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Algebra
1.1fa+ b = 12,ab = 22,then (a® + b?) is equal IR a=V8—Vv73R a=1 ar
b'
to 2,12
a“+b“-3ab e &
3R a+b=12,ab = 22, (a® + b?): a?+ab+b? e
27 27 29 29
a)188  b)144 c) 34 d)100 a) 7 b) 9 ey d) 37
2.f p+q =10 and pq = 5, then the 8.Ifx=+v10++v11,y =v10 —+v11, then value
numerical value of:—’ + % will be of 7x* — 50xy + 7y* =
IR p + q = 103Rpqg = 5,a §+%Em I x=V10+VIly=V10-Vi1, @
— 7x* = 50xy + 7y* &1 AT AT A
a) 16 b) 20 022 d) 18 a) 386 b) 1360 c) 344 d) 704
- @ 9. Simplify (957 + 932)%2 — 4 X 957 X 932.
3. 0fx = =28 &y——thenvalueofx + yZis: 2
V3-1 V3+1 (957 + 932)2 — 4 x 957 X 932 &} )
_ V3+1
R x=20 ARy =2 A 21y Loy
a) 14 b)13 c)15 d)10 a)625 b)676 c) 529 d) 576
_V3+2 _ V32 : 1 1
4.If a = N and b = NETGL then what is the 10. If x = Y= then the value of
value of a? + b? — ab? 8xy(x?* + yz) is
_V3+2 — — 2
ﬂﬁa—ﬁ_\/_a‘mb ff,%;rraJr I x = 2+\/_,y ZJ_,EﬁBxy(x +y2) &
b2 — ab T AT F4T T2 AT
a)97  b)2v3+2 4/6+1 d)98 a)112  b)194 c) 290 d) 196
S If q= \/\/E+1 & b= \/\/5—1’ then the value of 11.1fa+b =7 aznd az— b =5, tl'zlen find the
., b+b§—1 5+1 value of 8ab(a” + b*) — (a — b)~.
a a .
aZ_ab+b2l qﬁ a+b=\/7 3ﬁT a—b=\/§ %,?ﬂ-
V5+1 V5-1 a?+ab+b?*
AN a= 5_1&b \/5131' e apipz T 8ab(a? + b?) — (a—b)? &1 &AW AT
AT T
3 4 3 5 a) 19 b) 23 c)21 d) 27
a): b); OF d) 3 ) ) ) )
3x,/y+2yVx 3x\/_ 2yVx
6. If ngz 3 -IZ- 2V2 and xy = 1, then the value of  12. If the value of — =TT y+2y\/-ls same as
%' that of Vx [y, then which of the following
x=3+2vZ3Rxy = 1,ar x2+3xy+y relations between x and y is correct?
x 3xy+y qﬁ 3x y+2y\/§_ 3x,/y-2yVx FT AT \/E\/_ >
a) 2 b) 2 C) d d) 27 Bxﬁ—Zy\/E 3x y+2y\/E y
31 31 31 31 .
AT & ar x 3R y F fiw F=faf@a &
2,12 ..
7.1f a=V8—+7 and a =, then 222 ¥ FlT & "o AqE
b a“+ab+b

equal to:

a)9x —4y =36
c)9x +4y =36

b) 9x + 4y = 24
d)9x — 4y = 24




13.

14.

15.

16.

17.

18.

,tzavl @ coaching center
£

Download the App now & get:

Download our app

= The Best Paid courses in affordable price with QRPs (Only courses with QRPs) .'l-'f*"'k '.'
=  FREE structure PYQs (All previous year papers at one place in structure way) ... ' .- ‘.
= FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab) e 'y
By Bhutesh Sir =  FREE MOCK TESTs (Free full mock tests & sectional mock tests) et S
CAT Topper (98.74%ile) . n E T 4
3 times CGL selected = FREE MONTHLY CURRENT AFFAIRS PDFs with QUIZZES (Quiz is the best format to remember any thing) -
+Vx2-1 | x—x2-1 a)7 b) 8 c)9 d) 10
If v +Z v = 34, then the value of x ) ) ) )
x—Vx2-1  x+/x2-1
is (x < 0) 19. The factors of a? — 1 — 2x — x? are
+yx2- — r
aﬁ" Xl Vel g @@ x BT A a?—1-2x—x% F UGS @
L ) 1 7
a)(a—x — a—Xx—
AT A (x < 0)| ( ) )
b)(a—x+1)(a—x—-1)
a)-1 b) -2 c)-3 d) -4

If xX2—y>=80 and x—y =28, then the
average of xand y is

W2 —y?=803iRx—y=8 ar x3iR y
&1 3itTa:
a)2 b) 3 c)a d)5

(x3 + y%) (23 — %) is equal to

(x3 + %) (x3 — y®) GHIA §:

a) (x® —y'%) b) (x° —y
c) (x® +y'?) d) (x° +¥°%)

16)

If a and b be positive integers such that a? —
b? = 19,then the value of a® — b is

3R a 3T b UATHS [UITH 58 THR § A
a? — b? =19 a a? — b &7 HAT:

a) 19 b) 91 c) 89 d)10

Given that x, y, z are positive real numbers, if
(x+y)?-2z2=8, (y+2)?—-x*=10 and
(x +2)2—y? =17, then (x +y + z) is equal
to:

far = & & oxyz dAcHS adfaw
eae g afe (x + y)2 — 22 =8, (y+2)2 =
x2=10 3 (x+2)?2-y2=7, AT (x+

y+2z) T &

a)5 b) 7 c)8 d) 6

f (x+y)2=21+2% (y+2z)?=32+x?
and (z+x)?=28+y%findx+y+z=?
e (x+y)? =21+2% (y+2)? =32+ x?
I (z+x)2=28+y* & AN x+y+2z &
AT AT U |

20.

21.

22.

23.

cJa+1+x)(a—1—x)
d(a-—x+1)(a—x+1)

fx=b+c—2a y=c+a—2b,z=a+
b — 2c, then the value of x? + y? — z2 + 2xy
is

A MRNx=b+c—2a y=c+a—-2b, z=

a+b—2c,Ax%+y?—z% + 2xy F AM:

a)o b)a+b+c
cJa—b+c da+b—-c
How many pairs of natural numbers are there

such that the difference of their squares is 35?
s FEat & Rrad 3 0 § R
3T FT 3HaT 35 &2
a)1l b) 2

c)3 d)4

What is the value of 1006%—
1007 x 1005+ 1008 x 1004 — 1009 x
1003

1006% — 1007 x 1005 + 1008 x 1004 —
1009 x 1003 FT AT FIT &2

a)6 b) 3 c) 12 d)24

The value of (1018)% —1019 x 1017 +
1015 x 1012 — 1016 x 1011 is:
(1018)2 — 1019 x 1017 + 1015 x 1012 —

1016 x 1011 T AW AT FY

a)1 b) 4 )3 d)5
24.232 - 2+ 122+ 1D R*+1)(2% +

1)(216 + 1) is equal to

232 -2+ 122+ 1D)R*+1)(28 +

1)(21¢ + 1) fFaF AT 2

a)2 b) 216 c)o d)1
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Q+1DR2+1DR*+1)(28 + 1)(21° +
1)(232 +1)(2%* + 1) is:
a) 2256 -1
<) 2128 _ 1

b)22%6 + 1
d) 2128 + 1

What is the simplified value of (3 + 1)(3% +
DE*+1)B2+1)(31% +1)?
B+1DE2+ DG+ DB+ 131 +

1) FT AP AT FIT ¢ ?

32 _ 16 _ 64 _ 128 _
e VY € ) R C e ) Y eV

2 2 2 2
What is the simplified value of (x1%8 +

DEZ+ D+ D+ D)3+ D)+
1(x? +1)(x+ 1)?

2+ D2+ D)+ D) + 1) (B +
1) (x* + 1)(x% + 1)(x + 1) T WIeIpd AT

FAT§ ?

128 -1 x64_1 x256_1
a) x%56 — 1 b)
x—1 x—1
1 1 2b 4b3 8b7
What is ———— — —
a-b  a+b a?+b%? a*+b* a8-b8
equal to?
1 1 2b 4b3 8b7 m
a-b a+b a%?+b? a*+b* aB-b8
e ¢ ?
a)a+b b)a—b 1l d)o

If P =22%+6%+10%+14%+... 94> and Q =

12 + 52 + 924 .. 812, then what is the value
of P — Q?

gfe P =22+ 62+ 10% + 14%+... 942 v
Q=12+52+92+...81%, § @ P-Q &l

AT 4T &2
a) 24645 b) 26075 c)29317 d)31515

Factors of m®> — 16m

m° —16m& ?FF@? gha-
aym(m—1)(m — 3)

b)m(m — 2)(m + 2)(m? + 4)
cm(m—1)(m—2)(m+ 2)
d) None of these

31.

32.

33.

34.

35.

36.

37.

(a + 1)* — a* is divisible by
(a+1)*—a* Renfoa ¢ :

b)2a® -2a-1
d)2a®+2a+1

a)—2a’*+2a-1
c)2a®-2a+1

A complete factorization of x* + 64 is
x* + 64 FT FFYOT AUAEST F :
a) (x* + 8)?2

b) (x2 + 8)(x? — 8)

c) (x* —4x + 8)(x? —4x — 8)

d) (x? + 4x + 8)(x? — 4x + 8)

4.669x4.669-9x(0.777)%
(4.669)2+(2.331)2+14(0.667)(2.331) Is
(1 — k), where k =?

The value of

4.669x4.669—9x(0.777)%
(4.669)2+(2.331)2+14(0.667)(2.331) AT %
(1 - k) STl k =?
a)0.666 b)0.334 ()1 d) 2.338

x and y are positive integers. If x* + y* +
x?y? = 481 and xy = 12, then what is the
value of x% — xy + y*?

xqT y U UAlcA® quits o] I x* +
y* 4+ x2y? =481 U1 xy =12 & Y x% -
xy + y*&®T HAT F4T 82
a)16 b) 13

c) 113 d) 15

4x3—x
(2x-1)(6x+3)
4x3-x

Ttery T AR I x = 9999
a)1111 b) 2222 ) 3333 d) 6666

The value of when x = 9999 js

(% +yH) (=)= (x-y)°
xZy—xy?

()N - s aER )

xZy—xy?
b) 2 c)a d)-2

What is

equal to?

a)l

The factors of (x> — 1 — 2a — a®) are :
(x* — 1 - 2a — a®)& UGS AT F |
a)(x—a+1)(x—a-—-1)
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l'l" 'ﬁ‘l
g

I?'- gl

A

b)x+a—-1)(x—a+1)
x+a+1)(x—a-—-1)
d) None of these

A=Z"andB = Y1 fx=2and y=09,
+1 y2+1

then what i |s the value of A2 + 2AB + AB%*?

IR A=""lguyr p=L1# =R x=2

aur y=9 g a A%+ 24B + AB® &1 F41

AT 2

a) 96475 b) 98625 c) 92425 d) 89125

x*+1 y2+1

If ax+ by =3, bx —ay =4 & x* +y* =1,
then find a? + b?.

I ax+by=3 bx—ay=4 3 »*+
y2 =1 & a a?+ b? AT FU |

a) 17 b) 16 )9 d) 25

f ax+by=6, bx—ay=2&x*+y?=4
then the value of (a? + b?) is

I ax+by=6bx—ay=2 3T 12+
y: =48 a (a®+b®) FI AW § :

a) 2 b) 4 )5 d) 10

If a>+b*=25x>*+y>=17 and ax+
by = 8, then what is the value of (ay — bx)?

I a2+ b2 =25 x2+y2 =17 I ax+
by = 8, &, @ (ay — bx) &1 HIF FIT gHM?
a) 23 b)25 ~ ¢)21 d) 19

If (a?+ b?»)(m? +n?) = (am + bn)? then,
which of the following is correct.

Ife (a? + b?)(m? + n?) = (am + bn)?, A
PR A a sl -arFaT g & 2

a)£—2=0 b)ﬁzﬂ
m n n m
c)ab = mn dda+b=m+n

If Vx =+3 —+/5, then the value of x*—
16x+ 6is

44.

45.

46.

47.

IR Vx=v3-V5 & a x2—16x+6 FI

A &

a)o b) -2 c)2 d)4
If p = /5 — 2, then p* + 16p? + 8p> + 4 =?
Iy p=V5-28% a p*+16p> +8p° +4
AT FA |

a)3 b) 5 1 d)o
Ifa=89, b=-69, c =8 then the value of

9(a + b)* +49c* — 42(a + b)cis:
I a=89, b=-69, c=8 & a 9(a+
b)? + 49¢%2 — 42(a + b)c FT AT ¢ :

a) 2 b) 4 c) 16 d) 0

If x, y, z are positive integers such that x> +
y* = 45 and y? + z? = 40, then find the value
ofx+y+z.

IfE x, y, z UeTTeAs qoited § S BF 2 +
y2=453iR y? + 22 =40 @, A x + y + z
T AT AT HifSTl
a)11 b) 10

c) 20 d) 15

If a, b and ¢ are positive integers such that
a’? + b> =82and b%+ ¢? =65, then the
value of 2a + 7b — 3cis:

I a, b3AR ¢ UATHAF qUITEH $H IR 8
& a2+b2=82 3R b2+c2=65 & A
2a +7b — 3¢ T AT A HY|

a) 2 b) 5 c) 49 d)1
48. If /13x3 — 14x + 29 + V13x3 — 14x — 21 = 10,

then vV13x3 — 14x + 29 — V13x3 — 14x—21=?

IR VI3x% — 14x + 29 + V1323 — 14x — 21 = 10

g al Vi3x® —14x+29-Vi3x® —14x—21 &I

AT g9 :

a)3 b) 4 c)5 d)6
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The term to be added to 121a? + 64b? to
make a perfect square is

121a® + 64b% # F4T SAST STC arfes T qof

T o SATT?
a)176 ab b)276 a’b c)178 ab d) 188 b%a

The term, that should be added to (4x?* + 8x)
so that resulting expression be a perfect square
is:

(4x? + 8x) H T 3T W AifF T ot F=t
do SIIT?

a) 2x b) 2 c)1 d) 4
The expression x* — x? + k a perfect square if

the value of k is

K& fFa A7 & AT x* — 2 + k o qof
g9 gem?
a)l

b) 0 c)i d)—i

If x + iﬁ + a? is a perfect square then a is

a®% frw 79 & AT x+ oVa+a? & Tl

ot greme
1 1 1 1
a)m b)iﬁ C)E d)—ﬁ

For what value(s) of k the expression p +
%\/5 + k is perfect square?

1
K& FTAAF R p+ - fp+k T&

FoF grem?

a)i

64 b) +

C)ig

NS

For what value(s) of k will the expression p +
%\/5 + k? be a perfect square

k& g A6/ A & AT sge@ p +
sVp+k? wE qot @t ghem

b k=+;
wkzi%

1
a)k—+§

1
C)k—+z

55.

56.

57.

58.

59.

60.

R
If the expression %2+tx+};—2 is a perfect
square, then the values of t is
m"yizz+tx+¥wqﬁa7‘r%mt$r
HToT:
a) 2 b) £2

c)o d) -2

The expression x* —16x% + k3 a perfect
square if the value of k is

K& f5g A & AT x* —16x2 + k3 &
9o 9t g
a) 64 b) 8

4 d) +4

If the expression x% + x + 1 is written in the

2
form of (x + %) + g2 ,then the possible values

of q are

2 .
TR +x+1F (x+2) +q* & w7 &
fo@r S ar g F TN A

1 V3 2 1
a)i; b)i; C)iﬁ d)i;
IfN = (12345)2 + 12345 + 12346, then

what is the value of VN ?
Ife N = (12345)% + 12345 + 12346%,

al VN STHAT FTE?

a)12346 b)12345 ¢)12344 d)12347

If the expression x + 809436 X 809438 be a
perfect square, then the value of x is

3R x + 809436 X 809438 UH qUIaer g, ar

X T HTT 9dT F|

a) 809436  b)809438 )0 d) 1

The least positive integer that should be
subtracted from 3011 X 3012 so that the
difference is a perfect square is

3011 x 3012 & ¥ &iaddT 81 T B
tATCHF UITh TSHAT AT d1fF 3o 3T F1
3a¥ uF qut e g
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.,-,em ¢
IJ'-;- ' "‘ =y

s

a)3009 b)2010 ¢)3011 d)3012
61.If (a + b)> — 2(a + b) = 80 and ab =
16, then what can be the value of 3a — 19b?
gfe (a+b)%—-2(a+b) =80 GE
ab = 168 ,d 3a — 19b T AT FAT @'
T &2
a)-16 b)-14 c)-18 d)-20
1\12 1 {
62. If [a + (;)] —2 [a - (;)] — 12, then which

63.

64.

65.

of the following is a value of a?

R o+ ()] ~2fe- Q=120 @

RR@aAIRTTaFTAFE ?
-8++3 b) -8 —+/3
)-8 ++5 d) None of these

Simplify the following expression.
[(1+p)A+p (A +pH) A +p*) (1 +
(1 -p)-1]

ffaf@a e it e fio.
[(1+p)A+pH)A +pH) A +p*)(1 +
p')(1-p)-1]

a) —p3? b) p3?
c) (1 +p*) d) (1-p*?)

Pl-(q-1)? | ¢*-(p-1)*
The value of P2 -2 (pra@i-r?
- -a?.
(q +1)2-p?
P -(q-1?  ¢*-(p-1*  r*-(-q)?* AT
@+1?2-q*2  (p+q?-12  (q+1)2-p? e
AT HAT|
a)1 b) 2 c)o d)3

If p—2q = 4,then the value of p3 — 8¢3 —
24pq — 64 is

I p—2q=4, @ p°—8q® —24pq — 64
T HTel:
a)2 b)0

c)3 d)-1

66.

67.

68.

69.

70.

71.

72.

If m—5n =2, then the value of (m3—
125n3 — 30mn)is

IR m — 5n = 2, @ (m3 — 1251 — 30mn)
CORIIGE
a)6 b)7

c)8 d)9

If x = /5 + 2, then the value of x3 — 6x% +
12x — 13 is

I x =35 +2,arx3—6x%+12x— 13 F

AT
a)-1 b) 1 c)2 d)o
If 5x+9y=5 and 125x3+729y3 =

120, then the value of the product of x and y
is

HIM5x+9y =5 3 12523 +729y3 =
120a’rx3ﬁtya;r=;mmwg’mr?

a)45 b) % Q) — d) 135

135

If p = 999, then the value of
Yp(P2+3p+3)+1is

R p =999, Al /p(p2+3p+3)+1 &
HTeT:

a) 1000

b) 999 c) 998 d) 1002

Ifp = 124, theni/p(P? +3p +3) +1 =?
T p =124, AMp(P2+3p+3) +1 =2

a)5 b) 7
c) 123 d) 125

If p = 99, then value of p(p? + 3p + 3)is
3R p =99, A p(p? + 3p + 3) & AL
a)999  b)9999 ¢)99999 d) 999999

If p3 + 3p% + 3p = 26, then the value of p? +
2pis:

I p3+3p2+3p=26 & a p2+2p F
AT AT ST

a)8 b) 12 c) 10 d)15
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If m=—9, n =8, then the value of m3 — gfe  24/3x3 +5V5y3 = (2\/§x + \/Ey) X
3m?+3m+3n+3n2+ndis
(Ax% + Bxy + Cy?) &, @ (A2 — B2 + C?) &1
IMm=-9,n=8 dm’®-3m?+3m+
s AT T I9M ?
3n +3n° +n” P A a)108  b)128 ¢)109 d)139
a) 271 b) -271 c)-1 d)o

fx+y+z=2s find s—x)3+(s—y)3+
3(s—x)(s—y)z =?

afg x+y+z=2s § @ (s—-x°+
(s—y)3+3(s—x)(s—y)z & AW FAT
|
a) z3 b) —2z3

c)0 d) 223

If (8x3 +27y3) + (2x + 3y) = (Ax%* +
Bxy + Cy?), then the value of (54 + 4B +
30)is

I (8x3 + 27y3 ~ (2x 4 3y) = (Ax% +
Bxy + Cy?) @Y (54 + 4B +3C) T A §:
a) 27 b) 24 c)23 d) 71

If 8x3—27y3 = (Ax + By)(Cx* = Dy*+
6xy), then (A+ B + C — D) is equal to:
afe 8x% — 27y% = (Ax + By)(Cx? — Dy* +

6xy) &, (A+ B+ C—-D) =fRf@a & &

fFad R &2

a)-12  b)12 ¢) 15 d)9

If  2v2x3 —3v3y3 = (V2x —V3y)(Ax% +
By? + Cxy), then the value of A% + B? — C?
is:

afg 2/2x% — 3v3y® = (V2x — V/3y)(Ax?% +
By? + Cxy) &, @ A% + B% — C? &1 41 AT
&

a)l1 b) 7 c)19 d) 10
If 24+/3x3 + 5V5y = (2v/3x + V/5y) x

(Ax? + Bxy + Cy?),then what is the value
of (A — B* + C*)?

79.

80.

81.

82.

83.

If 250vV2x3 — 5V5y% = (5vV2x — V5y)(Ax? +
Bxy + Cy?), then the value of (A + C — V10B)
is:
e 250v2x° — 5V5y° = (5v2x — V5y)(Ax? +
Bxy+ Cy?) & ar (A+C—-+V10B) &1 AW
&

a) 10 b) 5 ) 5v2 d) 25

If (135v5x% —2v2y%) = (3V/5x — V2y) =
Ax? + By? +V/10Cxy, then the value of
(A + B-9C)is:

Ife  (135V5x3 - 2v2y3®) + (3VBx —V2y) =
Ax>+By? +V10Cxy, @& (A + B- 9C) &I
AT ¢

a) 20  b)18 c) 10 d) 12

If x6—512y%= (x? + Ay?*)(x* — Bx*y* +
Cy*), then what is the value of (4 + B — C)?
3PRx® — 512y° = (x% + Ay?)(x* — Bx?y? +
cy*) ,aY (A+ B — C)®T AT F4T §?

a)—72 b)72 c) —80 d) 48

If [8(x+y)3—27(x—y)3]+ (By—x) =Ax* +
Bxy + Cy? then the value of (A + B + C) is:
g [8(x+y)*=27(x— )%+ By —x) =
Ax% + Bxy + Cy* @Y (A + B + C) #T AT ¢:
a) 27 b) 24 c) 16 d) 18

If 8(a+b)3+ (a—b)2 = ((3a+ b)(4a? +
Bab + Cb?),then what is the value of (4 +
B - ()?
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gfe 8(a+b)3+ (a—b)®=(Ba+
b)(Aa? + Bab + Cb?) &, (A+B—C) &I
AT FIT g ?
a)2 b)a

c)10 d)11

f 8x+y)>3—(x—y)3=(x+3y)Ax*+
Bxy + Cy?), then the value of (A — B — () is

I 8(x +y)3 — (x — )% = (v + 3y)(Ax? +
Bxy +Cy?) &,@ (A—B—C) &I A ¢:
a)-2 b)-6 c)10 d)14

Given that (2x+y)3=(x+2y)3=(x-
Y)[A(x?* + y?) + Bxy],the value of (24 —B)
is:

far s & F 2x+y)>3-(x+2y)3 =
(x—y[A@*+y*) +Bxy] 8, @ (24— B)
ST AT AT HY|

a)7 b) 6 c)0 d)1
f (3-y):@*+xy+y*)=5:1 and
(x2—y®):(x—y)=17:1, then the ratio

2x :3y equals
N (3-y3): (2 +xy+y?)=5:1 3R
(xX2—y):(x—y)=7:18& & 2x:3y 9ar
Exl
a)4:1 b)2:3

c)a:3 d)3:2

Simplify the following expression.

Arfaf@a saas &' ga AT

90.

91.

92.

93.

94.

(62 X 62 X 62) — 3(62 X 62 X 22) + 3(62 x 22 x 22) — (22 X 22 X 22)

88

89.

8x8x8
a) 225 b) 1250 ¢) 125 d) 25
3 3
. (253)7+(247) = 50 x 10%, k =?
25.3%2.53-62.491+2.47%x24.7
a)3 b) 4 c)2 d)-3

775X775X775+225%x225%225
77.5x77.5+22.5x22.5-77.5x22.5

is equal to:

B
Of 22!
775%775%x775+225X225%225

77.5X77.5+22.5%X22.5-77.5%x22.5 T wl
a)100  b)10000 c)100000 d)10

Simplify the following.
0.01x0.01x0.01+0.003x0.003x0.003
0.05%x0.05—-0.015%x0.05+0.015x0.015
farafaf@a #r axesor fifav|
0.01x0.01x0.014+0.003x%x0.003x0.003
0.05%x0.05—-0.015x%x0.05+0.015 x0.015
a) - x 103 b) = x 1073

c) g x 103 d) g x 1073
The simplified value of
2xy X x3—y3
(1 - x2+y2) 1 ( x=y Sxy) IS
- . 2xy N x3—y3
AT e (1-x2+y2) (x_y -3xy)

1 1 1 1
Vo Moy 95 I
If a3+ b3 =110 and a+ b =5, then (a +
b)%? — 3ab is equal to
IR a®>+b3=110 31X a+b=5
(a+b)? —3ab TR &

a) 52 b) 32 c) 42 d) 22

If a® + b3 = 1344 and a + b = 28, then (a +
b)? — 3ab is equal to

IR a3 +b3=1344 31X a+b=28 a

(a+b)2—3ab T &
a)24 b) 16 c) 32 d) 48
L ud . x3—y3
On simplification, -

x[(x+y)2-3xy]

y[(x-y)%+3xy] % (x+y)% - (x—y)?

By s equal to:
FCRFOT O, e AN G o )53 U B
x[(x+y)2-3xy] x3+y3
(x+y)2—(x y)? T T L
a) 4 b) 1 c)§ d)%
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P <x+y>_—3xy _
95.If P= iy Q= 53 and R =

(x+y)%+(x—y)?
x2_y2

Q) XR?
_ J\c3+y3 (x+y) -3xy
IR P=—"r Q=""0 IR R=

@) gy (p = Q) x R BT AT FT &2

xZ—y2
a) 2(x% + y%) b) 4xy

, then what is the value of (P

c) x> +y* d)2xy

_ x2+2x+1
T x2-4x-5

x*-8x

96.If P = and R =

2x%+4x+8

x3-x2-2x’

, then (P X Q) = R is equal to:
2
—-8x Q +2x+1 3ﬁT R =

x3—x2—2x' x2—4x-5
2x%+4x+8 (_-ﬂ'

= (P X Q) + RN &
a)E b) 1 c)2 d) 4

MM P =

. () (e (e 1) (34

1) is

6 . 1 1
a)x +x_6

g_ 1 6
c)x -8 d)x 36

8 1
b)x +F

98. If x° + — = k (x?
afg x6+xl—6=k(x2
a)(x2—1+xl2) b)

+ 12), then k is equal to
X

+xiz) Tar kR }

(=143
1-3)

99.Ifa+ b = 1and a® + b® + 3ab = k, then the
value of k is

IRa+b=13Ra3+b3+3ab=k ar k

FT AT
a)1 b) 3 c)5 d) 7

c) (x4 +1+ x%) d) (x4

100. If p> — q* = (p — @){(p — @)* — xpq}, then
the value of x is

IMpl—¢®*=P-{p—q9?—xpq} B
al x &1 AT

a)-1 b) 3 c)1 d)-3

1 -1 2 -2
101. The value of (x§ + x?) (x§ -1+ xT) is
(x%+x_71)(x§—1+x_?z) T HTd %‘ :

1

2
a)xl + x3 b)x +x73

1
c)x3+x1 d)x+x?!

102. If (a® + b?)3 = (a® + b3)?, then the value of
a b
37 a'S
TR (a2 +b3)° = (@® +b*)? B,@ 242 @
AT ¢
1 2

-3 d) -3

(x+1)3-(x-1)3
(x+1)2-(x-1)2
2, then the sum of numerator and denominator
of x is:

M x & AT w&ar & 3R
CHDP -G’ _ o % oy o & 3fer 3R & @

(x+1)2—(x—1)2
NS AT B
a)3 b) 4 c)5 d)7

103. If x is a rational number and

104. If xy(x + y) = 1, then the value of #—

X3 —y?
1
IMxy(x+y) =1, Fﬁm—ﬁ -y
a)o b)1 c)3 d)-2
105. If x(x —3) = — 1, then thevalue of x3(x3 —
18)is
I x(x=3)= =1, a x°(x*-18) &I
HToT:
a)-1 b) 2 1 d)o

1 2
106. If x = 2 + 23 + 23 then what is the value of
x3 — 6x% + 6x?

1 2
M x=2+235+23gdl x3—6x%+ 6x HI
AT FT ge?
a)3 b) 2 )1 d) o
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107. If a? + b% + ab = 0, then (a® — b3) is equal

to

IR a? + b% + ab =08, a¥(a® — b3):
a)o b)1

c)(a+b)3 d)a’b* + a*b?

108. If§+§=1, a # 0,b # 0 the value of a3 +
b3is
FR2+2=1,a#0b#0 A a®+b3
HTeT;
a)o b)1 c)-1 d)2

2
109. If a = bb_—a, then the value of a® + b3 is
2
FRa=-", @ a®+b® F AW:
a) 6ab b)0 )1 d) 2

110. If — =2 + X then the value of x3 — y3 is

1

IR—=-+- a x*—y3 &1 A

a)0 b) 1 c)-1 d) 2

111. If a* + b* = a?b?then (a® + b®) equals
T a* + b* = a?b? &, A (a® + b®):
a)o b)1
c) a® + b? d)a’b* + a*b?

112. If a® + a + 1 = 0, then the value of a’is
INa2+a+1=0g dra® &1 AL
a) 2 b) -1 01 d)o

113. If a® + a + 1 = 0, then the value of a°® +
a*+1is
I RNal+a+1=0g a@ a®+a*+1 I
HTeT;
a)l b) 0

ca+1 d) a?

114. If a® + 3a? + 9a = 1, then what is the value

of a® + (%) ?

e a2 +3a2+9a=1 A, a a3+ 3) &7
AT 4T 2
a) 31 b) 26

c) 28 d) 24

115.If a4+ a®?+a®—1 =0, then what is the
value of a3 + i?
I a+a’+ad-1=0 @, ar a3+£ Col
AT F4T 82
a) 1 b) 4 c)2 d)3

116. If a+§+1=0(a¢0)then the value of
(a* — a)is:
FRa+-+1=0@=0)¢a (a*—a) #
HToT:
a)o b) 1

c) -2a d)-1

117. If X + Y = 10and XY = 4, then whatis the
value of x* + y*?

I X+Y =109 xy=4 §ar x*+ y*
FT AT FIT &7

a)8464 b)8432 ) 7478 d)6218

118.1f x=V5+1&y=+5—

x2  y? x y .

Ofﬁ+x_2+4[;+;]+6ls

2

e x=V/5+1ddy='/5-1%, a :7+
y? x [y

x—2+4[;+;]+6asrmw%?

b) 235 c) 27V5

1 then the value

a) 31 d) 25

119.1f a+ b =27 and a® + b3 = 5427
find ab.

I a+b=27 3R a3 +b3=5427 & A

ab T AT AT FY|
a)143  b)135

, then

c) 176 d) 149

120. The difference between two numbers is 3 and
the difference between their cubes is 999. Find
the difference between their squares.
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Y dEam3t & fiT F7 AR 3 § IR IaH
el & T &1 FaT 999 g| 3T AT I
IR AT ST
a) 81 b) 63

c) 36 d) 18

121. If the difference between two numbers is 5
and the difference their cubes is 1850, then the
difference between their squares is:

Iy QY &I F1 IHa¥ 5 ¢ 3 39F "l
FT 1850 &, Y 3% @t & #AET fhden

3eT gEm?
a) 5/482 b)5v483 ) 5vV484 d)5v/485

122. If x + y = 7 and xy = 10, then the value of
(x% + }%) is:
I x+y=73R xy=10, @ (fs"‘}%)‘_ﬂ
AT &
a)0.543 b)0.131 ¢)0.133 d)0.454

123.I1f a® =117 + b3 and a = 3 + b, then the
valueofa + bis:

e a3 =117+b3 3T a =3 + bA, A
a + b FT AT AT ?

a)+ 7 b) + 49 c)+13 d)o
_\V3-V2 _ \3+V2
124. If x \/_ 7% andy = NG then the value
of x3 +y3is
\/_ \/— \/§+\/i 3 3
AR x \F+\/_3-ﬁ1' ﬁ_ﬁ,?-ﬂx +y° I
HToT:
a) 950 b) 730 c) 650 d) 970
_ V543 . .
125. If x = 73 and y is the reciprocal of x, then
what is the value of (x3 — y3)?
afe x W+W % 3Ry, x F1 agwA T A
(x3 — y3) FT AT &
a) 120vV15 b) 114v15
c)126V15 d) 123v15

126. If x3 + y3
xt + yt.
g 3 +y’=4163 x+y=88arx*+
y* &1 A AT ST
a) 3002 b)3204 ¢)3004 d)3104

=416 and x +y = 8, then find

127. ifa’ + b =99 and ab =11, (a > 0,b >
0) then the value of (a® + b3) is :

e a?+b2=99 IR ab=11, (a>
0,b > 0)dl (a3 + b3) FT AT §:
a)1250 b)968 ) 1100 d) 1080

128. If a* + b> = 88 and ab = 6,(a > 0,b > 0)
then what is the value of (a3 + b3) is ?

I a? + b2 =88 3 ab=6,(a>0,b >
0) @ (a3 + b3) FT AT F4T §?

a)980 b)1180 ¢)820  d) 1000

129. If x* + y*> = 45 and x — y = 5 then what is
the value of x3 — y3?
g x2 +y2 =453 x—y=5 & ar x3 -
y3 & AT AT HY|
a)150  b) 250 c)-25 d) 275

130.f a + b = p, ab
equal to:

e a+ b =p ab =
FT AT AT AT

a) p* — 2p*q* + ¢*

b) p* — 4p*q* + 24

o) p* — 4p*q + ¢*

d) p* — 4p*q + 24>

= q, then (a* + b*) is

q & a (a*+bh

131.f a + b = p, ab = q, then (a* + b*) is
equal to:
e a+ b =p ab =q & A (a*+b?

FT AT AT MiAT|
a)p* - 2p*q* + ¢*
b) p* — 4p°q* + 2¢*
o) p* - 4p*q +q*
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d) p* — 4p*q + 24*

132. If 8a® + b® = 16 and 2a + b = 4, then find
the value of 16a* + b*.

I 8a3+b3=16 3R 2a+b=4 ¢ @@
16a* + b* HT AT FIT GIMM?

a) 32 b) 36 c) 28 d) 38

133.1f 16x*+y?>* =48 and xy=2,x,y>0,
then the value of (64x3 + y3) is:
Ifg 16x2+y2 =48 3R xy=2,xy>0
g, ar (64x3 + y3) &T AT AT FY|

a)320  b)300 c) 240 d) 340

134. x, y are two positive numbers such that x >
y. If x*+y* =706 and xy = 15, then the
value of 2x + 3y is:

x,yﬁﬂ?ﬁﬂﬂmm&'%ﬁ?x>y%|
I x*+y*=7063xy=158 a 2x+
3y & A AT Y

a) 19 b) 20 c) 18 d) 15
135. If ( + —) = 15E then what is the value

' 49x2 7’

of (x + E)?

2 1) _ 45 1

afy (x +49x2) =152 %,a‘r(x+ 7x) T ATl

FIT gm?

a)7 b) +7 c) +4 d) 4

136. If x* + ; — 27217, x > 0, then the value of

x+E|s
X
Ify x4+i—f=27217,x>0 g ar x+f—c T
AT FIT g1eI?
a) 17 b) 11 c) 15 d) 13

137. If 20x? —30x+1 = 0, then what is the

value of 25x% + —; il

afE 20x% — 30x + 1= 0,a 25x% + — F

AT 4T &2

1 1 3

138. If 2x% — 8x — 1 = 0, then what is the value
of 8x3 — =2
X
afd2x? — 8x —1=0%,a’r8x3—x13a»'rm
A |

a)524  b)560 c) 464 d) 540
139. If x+— =3 then the value of 9x3 + 37523

will be:

afy x+——3% ar 9x3 +3753 HT AT

AT H

a)237.6 b)376.2 c)273.6 d)367.2

140. If (4a—3b) =1,ab = % where a > 0 and
b > 0, what is the value of (64a3 + 27b3)?
I (4a = 3b) =1,ab =§ 2,318l a > 03X
b > 08, (64a® + 27b3) ST AT FAT §H ?
a) 15 b) 25 c) 30 d) 35

141. If 3x + 2y = 15 and xy = 6, then what is the
value of%x3 + §y3?
I 3x+2y =153 xy =6 A 223 +
§y3 T AT frder gem?
a)95.8 b)92.5 ¢)98.6 d)97.5

142. If x + 2y = 10 and 2xy = 9,then one of the
value of x — 2y is:

afe Ifx+2y=103ﬁT 2xy =9 a x-—
2y & A A § TF AT 2l

a)8 b) 6 c) 10 d) 12

143. Let a and b be two positive real numbers such
that ava + bvb = 32 and aVb + b\/a = 31.

What is the value of (a+b)
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AT a 3N b UlcA® aEdfd® TE&IAW §
W &F ava+ bVb =323 aVb + bva =

31 & | 22D 7 AT F4T @O 2
a)5 b)7 ¢)9 d)Cannot be determined

144.1f (x—a)(x—b)=1and a—-b+5=

0,then the value of (x — a)3 — is

1
(x—a)3
L riny (x—a)(x—b)=13-ﬁ'1' a—-b+5=0
g (x-a)- qar |
a) —125 c) 125

(x- a)3

b) 110 d) 140

2 2
2+v3 and b = g3 thenZ + % value

145. If a = 25 2 R >

of

AMNa=—7—7

a)2744 b)2702 c¢)2786 d)2704

1 1
146. If x—\/_—ﬁ and y—\/§+\/—§ then the

2 2
X .
value of = + L is
y X
2

_J3_1 _ RO O A
INx=V3-Z3iy=V3+3 S+

X

I HTel:

a)vV3  b)3vV3 ¢ 16V3  d)2V3
V5+1 5-1\°
147. (\/E 1) +(\/§+1) =7
a) 18 b) 36 c) 27 d) 16

148.1f x—V3—+vV2=0and y—/3+v2 =0,
then the value of (x® — 20V2) — (3 + 2v/2)
is
RN x—V3-vV2=03Ry-V3+v2=0
g ar (x® —20vV2) — (y® + 2V2) & A qal
|

a)o b) 1 c)—12v2 d)2

149.If 2x —y =2 and xy = ;, then what is the

3
value of x3 — % ?

3
e 2x —y =23k xyz% g ar x3—% F1
AT FIT gem?
9 5 5 13

150. If 2a + 5b = 12 and ab = 3, find the value
of 4a% + 25b>2.

e 2a+5b=123R ab=3 & a 4a® +

25b2% &1 AT AT |

a) 64 b) 84 c)24 d)44

151. If a + 2b = 27 and a3 + 8b3 = 5427, then
find the value of 2ab.

I a+2p=27 3N a3 +8b3=5427 ¢

al 2ab &1 A AT |

a)149 b)176 c) 156 d) 172

152.if a+ b =8 and a + a’b + b + ab? = 128,
then the positive value of a® + b3 is:

I a+b=8 3IR a+a’b+b+ab?=
128 &, @ a3 + b3 FT UATHS AT &
a) 96 b) 224 c) 344 d) 152

153. If a* + a?b? + b* =8 and a? + ab + b% =
4, then the value of ab is

N a*+a?b?2+b*=83T a?+ab+
= 4% a ab FT AT
a)-1 b) 0 c)2 d)1

154. 1f x* + x?y? +y* =273 and x%—xy+
y% = 13 then the value of xy is:
IR xt 4+ a%y? +y* =273 IR 22 —xy +
y2 =138 @ xy &1 #AF FAT gRM?
a)4 b) 10 c)6 d) 8

155. If x* + x2y? + y* =21 and x® + xy + y? =
1, 1),
7 then the value of (x_2 + 37) is:
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.,-,em ¢
IJ'-;- ' "‘ =y

s

N x4+ a2y +yt =21 A 2 +xy+
y2=7%ar (xlz+yl2)a?r AT a3t
5 7 7 5

156. If x* +y* + x?y? =117 and x% +y* -
xy = 3 (4 + V3), then the value of (x + y?)
will be:

Iyt +yt+x%y? =117 IR x% 4+ y% -
xy =3 (4++3) & (6 +y>?) & AT H|
a)9 b) 6v/3 )12 d) 133

157. Ifx* + x*y> + y* =35, x*+xy+y* =7
and x,y > 0 then the value of x3 + y3 is:
IR x* +x%y2 +yt =35, ¥ +xy+y? =
73R x,y > 08 avad + y3 &1 AT T3

a)10v/2 b)22vV2 ¢)16V2 d)Can’tsay

158. If x3 + x*y* +y® = 144 and x* + x%y? +
y* = 18, then what is the value of x? + y* =?
AT x8 + xty* + y8 = 144 3R x* + x%y? +
y* = 18§ @t x® +y? &1 AT Fam3.

a) 23 b) V23 )5 d)V/18

159. f x2 +xy+y?=21and x+ ., /xy +y =7,
then the value of x — y is
X% +xy+y2=213Rx+ /xy+y=7
g dx —y T AT T30,

a)9 b)3 c)5 d) Can’t say

160. If X2 +xy+y? =21 and x+ . /xy +y =7,
then the value of x — y is
IMRxZ+xy+y2=213Rx+ /xy+y=7
g dix —y FT AT T3,

a)9 b)3 c)5 d) Can’t say
161. If x> +xy+y?=848&x— Jxy+y=

6,then find x3 + 3.

I 2% +xy+y* =843 x— Jxy+y=
68, d x3+y® & AT AT T |

a) 72 b) 520 c) 512 d) 600

162. If x* + y* + x2y? = 171—16 and x%-xy+
y?=5 %, then one of the values of (x — y) is:
afe x4+y4+x2y2:17%3ﬁT x> —xy+
y*=5 §,a (x - y) F1 AT IaTT|
a)2 b)> 02 d)3

163. If a* + a’b?* + b* = 84 and a? + ab + b% =
14, then find the value of 3a + 2b.

I a*+a’?b?+b*=84 3R a’+ab+
b? =148, A 3a+ 2b HT AT AT U |
a)7VZ  b)8VZ )92

d) Can’t say

(4.6)*+(5.4)*+(24.84)% .
164. The value of 4.6)2+ (5.4)2+24.54

4 4 2
(4.6)*+(5.4)*+(24.84) FT ATl T %_.,

(4.6)2+(5.4)2+24.84
a)24.42 " b)24.24  c)25.42 d)25.48

165. If 16a* + 36a?b? + 81b* = 91 and 4a? +
9b% — 6ab = 13, then what is the value of
3ab?

PR 16a* + 36a%b% +81b* =91 3R
4a® +9b®> —6ab =13 § dl 3ab FT AW
T3,

a)-3 b)5 ok

166. If 16a* + 36a?b? + 81b* = 91 and 4a? +
9b% — 6ab = 13, then what is the value of

22,9 2)7
(5a +10b ?

VR 16a* + 36a’b? +81b* =91 3R
2 2 _ 2 2,9 p2

4a? + 9b% — 6ab = 13 %a‘r(sa +10b)

&T AT qdT3.

a)-3  b)1 c)2 d) 0
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167. Which one of the following is not a factor of
this polynomial x® + x* + 1?

ﬁmﬁf@aﬁ#mmx8+x4+1a§qa
FT IOTES T4l 82
a)(x2+1+x)
c) (x*+1—x?)

b)( (x> +1—x)
d) (x> —1+x)

168. If1 + 4x% + 16x* = 512, 1-2x + 4x% = 64,
then the value of 1 + 2x + 4x?is:

e 1+ 4x* + 16x* =512 ¢ 3k
1-2x + 4x% = 64 €, a1 + 2x + 4x> F

AT fRdaT gem?

a)6 b) 8 c)12 d) 10

169. If 16x* + 36x2%y? + 81y* = (4x% + 6xy +
9y2)(Ax? + Bxy + Cy?), then what is the
valueof A— B + Cis
IR 16x* + 36x%y?% + 81y* = (4x2 +
6xy + 9y?)(Ax2 + Bxy + Cy?) & @VA— B +
C T ATA T3,
a)7 b) 19

c) 11 d) 10

170. If a* —7a’b? + b* =32 and a* — 3ab +
b% = 4. Find%+2
b a

IR at — 7a?b? + b* = 32 30T a2 — 3ab +
_ a,b_
=4 %‘,;ﬂ'b+a_

a)2 b) 6 c) 18 d)9

171. A factor of a* — 11a?b? + b* is:
a* — 11a’b? + b* FT TF UGS ¢ :
a) (a® — b%? — 3ab) b) (a? + b? — 3ab)
c) (a® + b% + 3ab) d)(a?® — b? + 4ab)

172. Ifx—%= 5, then value of x? +xl2is
Mx—§=5 %a’rx2+xlzqmaﬁ|
a)5 b) 25 c) 27 d) 23

173. If x + % = 4, then the value of x* + x% =?

IRx+2=4da xt+2 =2
X X

a) 64 b) 194 c) 81 d) 124

174. Ifx+%= 7, then x3 +x13is equal to:
I x+- =7, 23+ TR &

a)300  b)322 c) 364 d) 343

175. Ifx+%= 7, then x3 +xi3is equal to:
IR x+-=7,a 23+ TR &

a)300 b)322 c) 364 d) 343

176. If x — % = 10, then x3 — xis is equal to :

T x—§= 10, @t a3 —xigm &
a)970  b) 1000 c) 1030 d) 1100

177. if x — i = 11, What is the value of (x* + x—14)?
A x-2=11 {, A (¢ + ) BT AT FA

ghemm?

a) 14163 b) 14159 c)15127 d) 15131

178. If x + i = —13, What is the value of x* + x%?
Ife x +§ =
gem?

a) 29243 b) 28561 ¢) 27887 d)27891

—13 g ar x4+x—14 T AT F4T

e

20 2 19 7

180. Ifx+i: 5, then the value of x® +xl6 =?
IR x+-=5Fa x0+— =7

a) 12098 b) 12048  c) 14062 d) 12092

181. If \/E+% — /6 then the value of will be:

1
x6+—6
x
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aﬁ\/i+di;=\/6%,a’rx6+xl6$rmm
|
a)2270 b)2502  c) 2702 d) 2712

182. If x + i = 3,x # 0, then the value of x7 + —

x7
is:
gfe x+%=3,x¢0 gar a7 + xl7 FT AT
CGIE
a)749 b)843 ) 746 d) 849

183. If x + i = —3+/2, what is the value of (x5 +

1y
x5

afe x+§=—3\/f, ?-l’f(x5+
xls)a?rWWM?

~723V2 b) —720v2
c) —715v2 ) —717V2

184. Ifx+§= —2+/3, What is the value of x> +
1,
=7
afe x+%=—2\/§ g, ar x5+xl5 T AT
AT AT

-1783
c) —182V3

b) 182V3
d) —180v3

185. Ifx+§= 2+/2, then the value of x7 —x—17=?
W x+-=2V2 A &7 - =2

a) 194 b) 26 c) 482 d) 478
186. If x + i = ﬁ;l, then what is the value of
xt + l?
afe x+ “_“ Bt L& A Fw
X4
a) 4/3-1 b) 4/3+1 o —44/3-1 d) -4y/3-1
4 2 4 2

187.If x +% = @, then what is the value of
xt + l?
uﬁx+1 \/—H%‘Eﬁx +— FT AT FT
5
a) 4\/i—1 b) 4\/j+1 0 —4\15—1 d) —4\/25—1

188. If (a + i + 3)2 = 16, where a is a non-zero
real number, then find the value of a? + alz
oy (a+§+3)2 =16, TE a T YLrA
IR W&AT 8, A o’ + F AT A

T

a)3 b) 47 c) 49 d)7

189. If A is the average of x and % then find the
average of x3 and x% =?
ﬂﬁxsﬁtiﬂmﬁA%H‘fﬁﬁT xiga»'r
dtaa A Ao |

a) 443 — 34
c)34%—44

b) 843 — 64
d) 443 - 24

190. If x = 3 + V/8,then x% + xiz is equal to

I x=3+V8 ¥ A x*+; TaT F
a)38  b)36 c) 34 d) 30

191. If X = /3 +1/2, then the value of x3 + l is

31'J1Tx—\/_+\/_a'?l’fx+ tIT-lTEITl'I
a)10v2 b)30+3 c)18\/§ d) 243

192. If x = V'3 — /2, then the value of x3 — x 3 is:
e x=V3-V2, @ 3 —x3FT AT &
a) 22v3 b) —22v2
c) 222 d) —22v3

193. If x = f%ﬁ then find the value of x° + x_16 .
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Ry x = 3—2«/§ %?ﬂ'x6+xl6$l'ﬂ1ﬁ'3ﬂ?l' 201. Ifx+——3 then the value of 16x3 +2563
is:
PIferY | gaf x+— =38, @ 16x° + —— F AW
a) 198 b) 27 c) 36 d) 18
B19:
) - (a— 3)3 )
M a— — 3
a — =06 % at (a—3)" - (a- 3)3 =? 202. If 2p +1_1J = 4, then the value of p3 + 8—;3 =?
a) 27 b 18 c) 36 d) 25
) ) ) ) 317R2p+§=4%a’r p3+8—;3=?
195. If x?2 t2g= = 6, then find the value of a)4 b)’5 c)8 d) 15
2 1
(f +1)* + (x2+1)? ° 203. If 4b% + biz = 2, then the value of 8b3 + b—13 =
=6 g, (@2+1)2+ 2+1)2 ?
mmm.—ﬁl I 4b? + =2 § A 8b3 +. =7
a) 27 b) 23 c) 47 d) 51 a)o b) 1 c)2 d) -4
2 2 —
196. If a’? + b? = 5ab, the value of:—2 + % is 204. If 3x + 5= = 6, then 8x° + 27_3 =?
2 —_— _—
IR a2 +b? = 5ab ¥ A L+ 2 @7 AmT: 7 3x+2x 6 ¥ al 8x° 4+
a) 32 b) 27 c) 23 d) -23 a) 76 b) 56 c) 52 d)72

197. If 2x + ; = 3, then the value of x3 + xls +2is
£ riny 2x+§=3 g ar x3+x13+2 T AT

b)—% c) 2 d) 11

9
a)—= 5

8

198. If 4a—§+3=0, then the value of a® —
1
S+3=2
3111T4a—§+3=0%?ﬁ a3—a—13+3:?
7 3 21 21
199. Ifx(3—z)=E thenthevalueofx2+x12is
3FﬂTx(3——) Sgar 2+xlza»'rm;r-
19 22 ~14
c)? d)—
1_3 3 L:7
200. If x + .~ = ~then 8x° + —— =1
1_3 3, 1 _
3111Tx+4x—2%a’r 8x% + — =

a) 18 b) 36 c) 24 d) 16

205. If x1° +X% = 2410 then find the value of

48 _ 1
X ol

R x16 + L= 2070 ¥ A x40 - L
AT AT |

T ATl

a)216  b)198 c) 234 d) 110
72

206. |f" “_7 then =% =2

ﬂﬁ x24+1 _ % (__n. x’2+1 %_

=7 & @ = A &

a)364  b)322 c) 352 d) 358
207.1ft2 — 4t + 1 = 0, then t3 +t13=?

R 2 —4t+1=0 ¢ ar t3+t13=?

a) 44 b) 76 c) 52 d) 64

208. Ifa’? —4a—1=0, thenaz'*-%+3a_%=
?
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IR @’ —4a—-1=0 F @ a®+;+3a—  215.1fx% + 1 = 3x, then the value of 53— is:
3
2= +
- =? uﬁx +1_3xa’r’§+5’;+1$rm%
a) 25 b) 30 c)35 d) 40 1

209. Ifx2—3x+1=0,thentheva|ueof2(x8+
)5 (++2)s
e x2-3x+1=0 g ar 2(x8+x18)
—5 (22 + ) 1 AT AT

a)3479 b)4379 c) 4370 d) 4279

210. If 8x% + 9x + 8 = 0, then the value of x3 +

1.
x—3IS.
Ify 8x2+9x+8=0 & ar x3+xl3 T A
AT AT |

199 999 199 999
Ay P )5z d s

211. If x2 —\/7x + 1 = 0, then what is the value
of x5+ 2
X
e 22 —V7x+1=0 ¢ a x5+$<'ﬂ'l=|1?-l'
F4T ghem?

a) 27V7 b) 217
c) 25V7 d) 19v7
1 2x
212. Ifx+——5 thenm—?
T x + -=5 % a m =?
1 1
a)5 b)g c)3 d)3

x4
213. Ifx+——3 thenthevalueof( +) =7

xZ—x+1
!
),

m+—3%a’r(

xZ— x+1
a)> b)2 03 d) >
214. If x +§= 1, theniz::—i: =?
2
i1 R A
a); b)> c) 2 d)3

216. If x2 — 6x + 1 = 0, then the value of (x‘* +
xlz)+(x2+1)is:
1
Iy 22-6x+1=0 & ar (x4+x—2)+
(x% +1) &1 AT &
a)39 b)33

c)35 d)36

217.1f x> —3x — 1 = 0, then the value of (x* +
8x — (x> +xH1is:
I a2 -3x—1=0a (x*+8x—1)(x*+
xH~1&r AT &
a) 1 b) 5 03 d)8

218.1f 2x + 5= 5, then ———— =7
6x +20x+1

3171'{'2x+——5 Tar -3

6x2+20x+1

a)Z |o)1 c)E d)%

219. If ,p¢0thenp+—=

pZ- 2p+1
2p —,p;tO %Fﬂ' p+;=?

p2-2p+1 ~ 1
a)4 b) 5 c) 10 d) 12

1 3, 1
—_ - —:7
3 then x° +

220. If
31_‘R. X 1
x2—2x+1 % Fn.x +__
c) 81

a)140 _ b) 110 d) 124

x? -x+1

then X + -=?
+1
xZ—x+1

am 2
2rx+l 3 % Eﬂ. x+;_?
a)4 b) -5 c)5 d)s

221. If

1 1
= — =7
222.1f = — =3, thenx + - =

5x 1 1
ﬂal! —_—_— - — =7

2x245x+1 3 % Fﬂ x+2x ’
a) 15

b) 10 c) 20 d) 5
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223. 1fx =5+ 2, thenﬂ
3x2-4x-3
_ (2x%-3x-2) 5
IR x=V5+2 8 o —=
a) 0.1785 b) 0.525 ¢)0.625 d)0.785
4 3 2
224. If x + 1- 5, then X3 fo t3x+l =7
X x*+1
1 24323 +5x2+3x+1
-_—— :7
W x+-=5Fdr e .
a)>  b)% )= d) >
23 21 23 21

225. If x is real, and x* — 5x% — 1 = 0, then the
value of (x6 —3x%+ % - le +1 )is
IfE xareaf@s & X x*-5x2-1=0 ¢,
Fﬂ(x6—3x2 +x12—x16+1) T AT &
a)126  b)110 c)116 d)96

226.1fx > 1 andx2+xlz=83thenx3—xi3=?
R x> 1 3ﬁtx2+le=83%a‘r x3—xl3=?
a)764  b) 750 c) 756 d) 760

227. If x* + x% =119, and x > 1, then the value

ofx3+l=7

IR x* ——119 IRx>1¢ a 8+
1 _5

x3

a) 36 b)16V13 ¢)18 d)10vV13

228. If m* + —
m
IR mt+—=119 ¢ @ m—~ =2
m m
a)+3  b)4 c) +2 d) +1

— 119, thenm — = =?
m

229. If x* + x% = 322, then what is the value of

3_17
X el

uﬁx4+xi4=322 %,a’rx3—x13 T AT F4T
14

a) 16 b) 96 c)76 d) 46

230. If x® —1442x* +1 =0, then a possible

1.
value of x — ~is:

L.i.u‘_\“
gfe x®—1442x*+1=0, @ x—i F1
T A §:

a)5 b) 8 c)a d)6

231. If x* + x% = 3842, then the positive value of

x+§wi||be:

Ify x4+x—14=384z T ar x+§a7r UATCHE
AT AT F

a)12 b) 8 c) 10 d) 6

232.If x >0and x*+ x% = 2207, What is the
value of (x° + x—ls)?
Ifg x>0 3R x* +xi4
) T AT FAT g
a)15141 b)15134

=2207 & (x°+

c)15130 d)15127

233, If x* + ,%4 = 6887, then the positive value of

1.
X ——1IS:
X
uﬁx4+xl4=6887 g ar x—ia»-ru?nam
AT AT B
a) 12 b) 9 ¢) 15 d) 8

234. If x* + x% = 14159, Then a Possible Value of

x+1IS
X
afy x4+;1;=14159 ar x+§ &1 GHT
AT F4T &2
a) 81 b) 69 c)11 d) 121

4, 1 _ 257 ind = (x3+%
235.If x t o= 1 then find 13(;\c +x3),

Where x > 0

W =2 @ S+ G
Eﬁ'ﬁﬁ!‘,\‘vﬁ'x>0 %I
a)5 b) 4 c)6 d 8

is:

12
*1 — 14, then the value of = :1
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.,-,em a0

; E"u
b
(5] WA

8 12
R =1 A A R
a)16  b)14 ¢) 52 d) 64

237. Ifa* + a—14 = 50, a > 0, then find the value of

3 . 1
a +;

ﬂﬁa4+al4=50,a>0,HT a3+a—13?=b'r3=|17-|'
AT AT

a) m + (-1 +2V13)
b) m — (-1 +2V13)
c) m(—l —~2V13)
d) m(—l +2V13)

238. fa? + —— — 6a

=9,then(a—3) —

(a—3)?2 (a 3)
?
llﬁ' a+ 3)2—6a=9% @ (a-3)-—
(a 3 T HTol 3|3II
a) 4 b) 2v/5
c)3 d)An Imaginary no.

239.If x>+ x=5 , then find the value of
(x+3)3 +

(x+3)3 "

_ 3
e x2+x=5 g @ (x+3)3+ (+3)3EFI'
AT AT AT |
a)110 b)140  ¢)125  d)120

240. If x> + 4x —4 = 0,then (x + 5)3 + a

(x+53
?
3
I x2+4x—-4=0%¢ Ax+53+ (+5)3
FT AT 1910 :
a)234  b)198 c) 216 d) 110

241. If x> — 12x + 33 = 0, then what is the value
of (x —4)% + [

(x—14)2]?

iy x®-12x+33=0 & @ (x—4)>+
| 1 a1 7w @2

[(x 4)2

a) 16 b) 14 c)18 d) 20
2 _ 3__ 1 _
242. If x“ + 2x = 4, then (x + 3) (x+3)3—?
IfE x2+2x=4% a@ (x+3)3— (+3)3
HATT 819 :
a) 76 b) 64 c) 52 d) 36

243. If x> — 16x + 59 = 0, then what is the value

— 6)2 1 -
of (x —6)°+ Tk

I x> -16x+59=08 d (x—6)>+

o= 6)Za»'r AT FT 2

a)14 b)18 c)16 d)20
244.If x + \/—1; =3, x>0, then the value of

x2(x* —47)is.

gfe \/§+\/i;=3,x>0, g ar x2(x?-
47) &T HATT g9 :
a)o b) 2 c)-1 d) 2

245. If x* + x™* = 47, (x > 0) then the value of

(2x — 3)%is:

IR x*+x4=47, (x>0 @ (2x — 3)?
&1 AT &

a) 2 b) 3 )5 d) 4

246. If x* + x~* = 194, (x > 0) then the value of
(2x — 4)? is:

WM x*+x*+=194, (x>0) a@ (2x-—
4)2 & A &
a) 15 b) 20 c) 12 d) 16

247.If x> —9x+ 1 = 0 what is the value x8 —
6239x* + 17
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I x2-9x+1=0¢g, ar x®—6239x*+1

FT AT FIT g9 ?
a) 2 b) 0 c)—1 d)1

248. If x> — 8x + 1 = 0, what is the value of x® —
3842x* + 1?

e x2—8x+1=0g o x8—3842x*+1
FT AT AT HiAT|

a)1l b)0 c)2 c)—1
2,1)
249. i 3057 6, X # 0, then the value of Vx
1,
+F|S
qﬁw 6x¢0%a’f\/§+— FT
AT FIT gEM?

a)\/% b)\/g c)\/% d)\]??1

250. If x = 1 + V2, then find the value of Vx + \/%

I x=1+v2 @ \/§+\/—1E$r AR A
fifa

a)2.1014 b) 2.1973
c) 1.9876 d) 1.9996
251.1f x*—4x+1=0, then what is the

value of x° + x7 — 194x> — 194x3?
gfe x2—4x+1=0% A x®+x7 -
194x5 — 194x3 FT AT FIT 8?2

a)a b) -4 )1 d) -1
252.1f p + % = 112 find (p — 112)"5 + —

Iy p+%= 112 %, (p—112)15+p%5 ar

AT A |

a) 10 b) 0 c) 15 d) 1

2 xZ4+x+2
253. If x + S= 1, then T =7
2 X% 4+x+2
W x+=18a ;==
a)l b) -1 c)2 d) -2

254.If x2—7x+1=0,and 0 < x <1, what is

1
the value of x% — peid

I 2-7x+1=0,3T 0<x<1,8 a

x2 —xiz HT AT FIT 29M?
a) 215 b) =215
c) 28V5 d) —28+/5
255.1f (x*+5)=7, and 0 <x<1, find the
X

1
value of x* — <.
X

'ﬂﬁ(x2+xiz)=73ﬁ'{0<x<1%,?-ﬂ'x2—
xlzmm?rmﬁl

a) 35 b) 43
c) —4/3 d) 35
256. If (x2 + xlz) =6,and 0 < x < 1, what is the

1
value of x* — =?
X

gfe (x2+xl2)=63ﬁ'{'0<x<1,%,?-|’fx4—
= @ AT FAT ENI?

a) 242 b) —24v2

) —12V10 d) 1210

257. If x + ~ = 2,then x7 + — =?
pe X
IR x+- =28 &7+ =7

a) 2° b) 212 c)2 d) 27
1_ 17 1
258.If x + - = =2thenx"" + 45 =?
X X
1 1
IR x +- = —2 T a’rx17+x79=?
a)1l b)0 c)2 d) -2
259. If a +§= — 2 then the value of al%%0 +
a—lOOO is
ﬂﬁ'a+§: —ZT'n' al1000  4—1000 &1 HTeT
ATor
a) 2 b) 0 )1 d)%
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260. If a + % + 2 = 0, then the value of a37 — —

2100
is

IR a+-+2=0% & o - & A
a)o b) -2 c)1 d) 2

261. If%+§= 2, then the valueof a — b =?
FRS+2=2 ¥ @ a-b=

a)2 b) -1 c)0 d) 1
262. 1f x + — = Lthen (x + 1)° + —— =
M x + 17— = 1then (x o
1 _ 5 _o
IR x+-=18@ x+1)5+ 5=
a)l b) 2 c)4 d)8
1 2,9
263. If m + — = 4, then m” + — =?
m-—2 m
IR m+——=4 ¢ dm?+==?
m-—2 m
a) 12 b) 9 c)14 d) 10

264. If x + — = —5, then x% + = =?
x+3 x

IR x + —= = —58, A2 + Z T AT W
x+3 x

T

a) 18 b) -18 c) 14 d)-14

265. If r + 6r—4 = 16, then the value of r* + r% is

Iy r+6r—4=16 : ar r4+ri3 T HA
_ &
a) 4096
c) 512

b) 4096 Hz‘

d) 512m

266.1f S+ +6=0, then (x+7)20%! + (x +
5)—2021 =?
afe §+%+6 =08, @(x+7)221 4+ (x+
5)~2021 T HIT STET §
a)o b)1 c)2 d -1

267. Ifx2+%=2,x<0, thenx* —x — 1 =?

gfe x2+%=2,x<0%‘, a xt—x—1FT

AT T § ¢
a)-1 b)1 c)o d) Can’t say

268. Ifm4+$+2m=0thenm2—i=?

m%
IR m* + = + 2m = 08, dArm? — — & AT
m m

CRICES % :
a)1l b) 0 c)-1 d) Can’t say

b

269. If a+b:10and\/§_13:_ 2

a
11, then what is the value of 3ab + 4a? +
5b2?

afe a+b=1OH21T\E—13=— b_

a

118, a 3ab + 4a? + 5b2 HT AT FAT §?
a)450  b) 300 c) 600 d) 750

270. Ifxz+y2+x—12+y—12+4=0,thenx2+y2 =?

IR A4y 45+ +4=0 Fara?+
y: =?
a) 2 b) 4 c)-2 d)-4

2
271.1f a* +1 = [Z—Z] (4b — b* — 1), then what

is the value of a* + b*?

Ife at+1= [Z—Z] (4b* - b*-1)%,
ar a* + b* FT AT AT &2
a) 2 b)16 c) 32 d) 64

272.If ax+by—2 =0 and axby =1, where
a # 0, b = 0, then what is (a’*x + b%y) equal
to?

I ax+by—-2=03 axby =18, &l
a+0,b=0g8d (a®x + b%y) fFaF &I
g2

aJa+b
c)a® + b

b) 2ab
d) a* + b*

2
273. (a + i) = 3, thena® + % =?




By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

SUBSCRIBE “e1 coaching center” on YouTube & get: e
O} '#*‘E]

Best content for SSC CGL, CHSL, CPO, MTS, CDS, Railway "" v
Latest Exams questions solutions

Best series for All competitive Exams

SSC CGL Tier 2 (2011 to 2021) All ques Chapter wise with pdf

: *Dan

S

3111T(a+i)2=3 %‘Fﬁa3+a—13:?
a)2v3  b)2 c)3V3 d)o

274. If x is real ,x+%¢ 0 and x3 +xl3= 0, then
4
the value of (x+1) =?
X
X U&F FrEdfa® §E&dT §; 3R x+§¢03ﬁr

Peo=0, A (x+ )4=?
a)4 b) 9 c) 16 d) 2

2
275. If (x+§) = 3, then what is the value of
x4+ x76?
2
IRy (x+§) =3 & x6 + x5 & AT FT
&

a) 6 b) 2 c)—6 d) —2

V3, then x18 + x12 4+ x6 + 1 =?
3ranx+§=x/§ T A8+ x12 42011 =2
a) 0 b) 1 ¢)2 d)3

276. 1fx + X =
X

277.1f x2—+/3x+1=0 , then x3° + x%* +
x12-2=2?

T x2—V3x+1=0 & ar 136+ 2%+

12 _ 2 &1 A T &

a)1 b) 2 c)3 d)a
278. If (a+§)2 = 3, then the value of a? +

a*+a®+a*+1=?

IR (a+§)2=3 ga a®®+a%+ad+

a’?+1=?

a)o b) 20 1

d)-1
1\2 95 89 54
279. If (x + ;) =3,then x°° +x°% +x>*+
x*+x%+1 =2
1\2 95 89 54
AR (x + ;) =3 %‘ ar a5 4+ a8 4 x5+
x4+ x0+1=?

a)o b)1 c)84 d) 206

280. If x3 + — = 0 then the value of x3° + — is
X X
IR BP+5=0 & @ x4 & A
X X
TATHT|
a= b3 01 d)o

281. If x + % + /3 = 0 then the value of x17 + x—i7

is

IR x+-+V3=0F A x7+ L F A
AT |

1
a)—/3 b)V/3 o1 d)

282. If x + + = /3, then x7° + % =?
X X

uﬁx+§=\/§ Ear x75+x—§5 HT AT
W ¢
a)v3  b)—/3 )0 d) -1

V3 , then x12% + x100 4 x%6 4
x72+x52+x%=?

At + = V3 B, A a1 4 1100 4 2% 4
x72+x52+x%?ﬂﬂ'l?r W &
a)1 b) 0 V3

283. If x* + = =
X

d) V3

284. Ifg + % = —1(x,y # 0), then find the value
of x3 — y3.

afe §+§=—1(x,y +0)g, ar 23 —y3a&r
A AT |

a)1 b) -1 c)o d)2

285. If§+% = 1, find the value of x3
R I+2=1 @ A 3 F AT AT W

a)1 b) —1 c) 27 d) —27

286. If§+§+ 1 = 0 then find the value of x3
uﬁ’z-‘+f-c+1=03’ra’rx3$rmmw
|
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l'l" 'w"l
g

I?'- gl

A

a)1 b) -1 c)8 d) -8

287. Ifx+%=1thenthevalueofx49+x%is
N x+§=1 % ar
qAT3HT|
a)-1 b) V3 )1 d) 0

X% + 5 & A
X

288. Ifx+§= 1 then find the value of x>2 +x%
Ilﬁ'x+§=1 %?—I’fx52+x% FT AT AT
e |
a)o b) -1 c)1 d) 2

289. If x + i — 1 = 0 then the value of x2° + x%ls
IR x+§—1=0 ar x26+x%a»'r AT
CLIE

a)—V3 b)-1 )1 d) —

V3

1
290. If x4 + — = 1, then find the value of x5% +

Rl =

X
1
52

1

2Tﬁ'x1+l1

x4
U |
a)o b) -1 c)1 d)2

1
=1 gr ar x°2 + —; & A AT

291 Ifx +~ =1,
Find x93 + %100 %90 + x87 4 x81 4 x72 ¢
x>+ x5 +x3+3
gfe x+§=1 %‘,?ﬂ'
£103 4 4100 | 490 & 187 4 (81 4 72 | 54 |
x* + x3 4+ 3 FT AT AT A |
a)o b)1 c)2 d)3

292.1f (x—3)2+(y—5)2+(z—4)? = 0then
h | fxz y2 ZZ
the value o ?+E+E

WM (x—3)2+(y—-52%2+(z—-4)2%=0 @&

a) 12 b) 9 c)3 d)1

293.If (a—3)%2+ (b—4)? + (c—9)?> = 0, then
the value of Va + b + cis:
N (a-3)2+bB-4)2+(c-92%=0 &
@ Va+b+c &AM
a)-5 b) 4 c) +4 d) —4

294, If Ba+1)?2+(b-1)2+2c-3)?%=
0, then the value of (3a + b + 2c¢)is equal to

MM Ba+1D?2+B-1%*+2c-3)?%=0
g d 3a+b+20):

a)3 b)-1 c)2 d)5
295. If (2a—1)>+ (4b—-3)*>+ (4c+5)%* =
3 3,,3_
0 then the value ofw is
a“+b“+c

RN (2a—1)%>+ (4b - 3)% + (4c+5)% =
0% (_'ﬁ a3+b3+c3-3abc

aZ+bZ+c2

27 19 11

296.f (x+y—-z—-1)?+@zZ+x—-y—2)%+
(z+y—x—4)2=0,thenfindx+y+z="?
e (x+y—-z-1)?%?+(zZ+x-y—-2)%+
(z+y—-x—-4)?2=08 d x+y+z & AT
AT FA |
a)3 b)7 c)5 d) 4

297. If thevalueof (a + b — 2)%2 + (b + ¢ — 5)% +
(c+a—-5)2=0, then the
Jb+0)®+ (c+a)d —1is:
I (a+b-2)%2+b+c—5?%+(c+a-—
52=0, d@ J(b+c)+ (c+a) -

value of

AT ¢
a) 2 b) 1 03 d) 0
298.1f x*+y*>—4x—4y+8=0, then the

valueof x — yis
HIRx2+y?—4x—4y+8=0 8@ x—y
Tl Y|

a)4 b) -4 c)o d) 8
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299. If x% +y% +2x+ 1 = 0, then the value of a) 12 b) 13 c)15 d) None
306. If a®+ 4b%+49c¢%* + 18 = 2(2b + 28¢ —

x31+y35

R 2 +y*+2x+1=0 § ar x31 +y%
9T HY|

a)-1 b) 0 1 d) 2

300. If a® + b%? = 4b + 6a — 13, then what is the
value of a + b?

gfe a’+b> =4b+6a—-13% dl a+
b &1 AT FITE?

a)3 b) 2 c)5 d) 10

301. If x> + y?2 + 6x + 5= 4(x— y) thenx—yis
I x2 +y2+6x+5=4(x—y) &, a x-y

T g ?
a)l b)-1 c)3 d)-3
302. If 2x% + y* + 6x —2xy+9 = 0, then the

value of (4x3 — y3 + x2y?)is:
afg 2x2+y24+6x—2xy+9 =0 & o
(4x3 — y3 + x2y?) &I A &

a) 9 b) 0 c)-9 d)-3

303. If 5x*+4xy+y?>+2x+1=0 then find
the value of x — y.

IfE 522 +4xy+y2+2x+1=0 g, x—

y &1 AT AT F |
a)-1  b)-3 c)3 d) 1

304. If x? + 8y% + 12y —4xy + 9 = 0, then the
value of (7x + 8y) is:

I x24+8y?+12y—4xy+9=0 & o
(7x + 8y) FT AT AT HY|
a)—33 b)9 c)33 d) —

305. a? + b? + ¢? = 2(a + 2b + 3¢) — 14, then
the value of 4a — 3b + 5c is

a’ + b%*+c? =2(a+2b+ 3c) — 14, ar
4a — 3b + 5¢ T AT

a),then (3a + 2b + 7¢)is :

3R a? + 4b? + 49¢* + 18 = 2(2b + 28¢c —
a), dr (3a+2b + 7¢) =?

a)o b) 2 1 d)3

307. If a® + b* + ¢ + 96 = 8(a + b — 2¢), then
vVab — bc + ca is equal to:
I a2 + b2+ c2+96=8a+b—2c) @
vab—bc+ca@F T # ¥ Fad W= 2
a) 6 b) 2v/2 a4 d)2v3

308. If 9a*+ 4b*+ c*+21=43a+b -
2¢), then the value of (9a +4b - ¢) is:

gfe 9a’?+ 4b*+c*+21=43a+b -
2¢), @ (9a +4b - ¢) FT HAA ¢:

a) 16 b) 2 c)6 d) 12

309. If x2+4y2+322+$:2\/§(x+y+z)’
then thevalue of (x — 4y + 32) is:
afe x2+4y2+322+%=2\/§(x+y+z)
g a (x—4y+3z) FT A AT
Y b)2v3 V3 a2

310. If 9a% + 16b% + c? + 25 = 24 (a + b),then
(3a+ 4b + 5¢) =?

Ife 9a2 +16b%2+c2+25=24(a+b) &,
ar (3a+4b +5¢) =2

a)9 b)6 c)7 d)10
311. If a®? + b?> +64c®> + 16¢c + 3 = 2(a + b), then
4a’ + b7 + 8c* =?
I a? + b®> +64c® + 16¢c + 3 = 2(a + b) &
4a’ + b7 + 8c* =?
1 7 1 7
a) 45 b) 45 C) 55 d) 35

312. If a’?+c?>+17 =2(a—8b —2b?), then
what is the value of (a3 + b3 + ¢3)?




By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab)
FREE MOCK TESTs (Free full mock tests & sectional mock tests) o
FREE MONTHLY CURRENT AFFAIRS PDFs with quizzes (Quiz is the best format to remember any thing)

) @ coaching center Download the App now & get: Download our app
"y

The Best Paid courses in affordable price with QRPs (Only courses with QRPs) @ }h?! (] @

FREE structure PYQs (All previous year papers at one place in structure way) -ﬂ

I a?+c2+17=2(a—8b—2b%) & A
(a3 + b3 + ¢3) & A AT |

a)—7 b) 9 c) 10 d) —4

313. 1 x? + y? + 5+ 5 + 4 = Othen x? + y* =7

IR 22+’ +—+—+4=0 T2+
x y

y'=?

a) 2 b) 4 c)-2 d) -4

314. If x% +y2 + —+ — = 0, then the value of
22y
x% +y?is:
1,1
Ilﬁ'x2+y2+x—2+)7=0 g ar K2y’
AT AT Y |

a)o b) 4 c)8 d) 16

315. If a® + 4b% + — + — = 5, then the value of
4a b
a? + b* will be
2 2, 1 1 2 2
L a?+4b’+ S +5=5 § @ @®+b
HT AT g1 :

a)l b) -1 c)2 d)o

2
316. 1f a* + 1= ;| (4b% — b* - 1), then what
is the value of a* + b*?
2
afe a4+1=[z—2] (4b? — b* - 1) %,
ar a* + b* &1 AT FAT 2
a)2 b)16 c) 32 d) 64
3, 1 2 1 2
317. If (x +x—3—k) +(x+;—p) = 0 where
k and p are real number and x # 0, thengis
equal to:
A 2 " 2 o
AR (B+5-k) +(x+3-p) =0
k3R paafas geae & ik x =08 @
g FT AR e §
a)p?+1
p?-1

b) p?> +3
d)p?>-3

318. E\/ng\/g__g = 2 then x is equal to
(\/3+x+\/3 x)
i) = 2 % ar x gar am
5 7
(Va+d+Vx—4) _ _2
319. (eravacd) 3 then - is equal to
(Vx+4+Vx-4) 7 x+2 5
e = ; & = fhad @A g
17 79 11
aA5n )37 )% d) 5
x a+2 z,
320. If- = > is
y +y
3T X = e
Sy A g P AR
8a 4a 2a 4a
) a’+4 b) a’+4 c) a’+4 d) a?+42
321. If x =22 andy——then is:
pP—q +y
— ptq q x-y
ﬂﬁx-p_qﬁh’y W%a’r g
p*+q’ 2pq 2pq 4pq
a) 2pq )p2+q2 ) p?-q* )p2+q2
1+2x 1-2x
322.If A ——Zxand B = T2’
1+2x A+B
2Tﬁ-"l_1—2x B = 1+2x . il
A g
a)x + . b) x — E
1
C) :l; — X d) x + m
_ V3 (Vitx+V1i-x),
323.If x = > then the value of —m N
_ V3 (V1+x+V1- x)_?
R x=5 8@ e e
a)—V/3 b)-1 o1 d)V3
_ah o _bme o cmago Bx dhy
324.1f x = a+b’ Y= b+c’ © c+a then 1-x 1-y
1+z
bl
1-z
a—b b—c c—-a 1+x
e =Ty z=, A o
1+§ 1+z FT AT m
a)l b) 2 c)3 d)o
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325. IfE =2 and Iy_» then the value of —% q
-1 b 1+y a’ 1+xy d)i;,/Zp— ,2p #q
is
m——“sﬁtly T AT = 5
Zab 4ab 331.If a = ez )’ then the value of a“ —
a) 2ib2 b) 22_b2 ax is
a’-b” 2ab (Vat2 +Vx—2)
d)— — WXTETVATL) 2 _ .
)5 )50 N a (m_m)%#r a® — ax &I AW
a)2 b)1 c)o d)-1
326. If (2a + 3b) (2c- 3d) = (2a- 3b) (2c¢ + 3d), then:
I (2a + 3b) (2c- 3d) = (2a-3b) (2c + 3d) ®, Jp
ar: 332.If x =
. a+b
x+2b ,
a)ﬁ d b)ﬁzf x—ZbIS
2 g g ? 3T x _ 4ab a+b, % (_'ﬁ x+2a x+2b_
c) i d) > i ~ a+b x 2b"
a)a b) b c) 2ab d) 2
327.f (a+b+2c+3d)(a—b—2c+3d) =
(a—b+2c—-3d)(a+b—2c—3d), then 333 I x — 6L" th xi3p w30 _,
2bc is equal to HTXx = N s T x3q
e (a+b+2c+3d)(a—b—2c+3d) = gfe x = 6pq % ar T;Z ifz AT FA |
(a—b+2c—3d)(a+b=2c—3d) & @ a)1 b)2 c)3 d) 4
2bc & @ :
¢ i‘,\3 3 334. If x = 200 then X*2V2 | X+2V8 _
a)3ad b); c) a’b? d) ﬁ Y x-2vZ | x-2v3
_ 4/6 x+2\/_ x+2v3
gfg x = ﬁf%a’r“f xzf?n?ranﬂ
v0.6912+v0.5292 ., a) 1 b) 2 c) 3 d) 4
328. The value ofm_m is
V0.6912+/0.5292
CaIG)
v0.6912 —v0.5292 % 335.If x = j‘_\/:_ then the value of x+g +
a) 1.5 b) 0.9 c) 15 d9 x+\/1_ -
X+3x E x+\/_ x+V12
329. 5 = -thenvalue of x ? 39T x \/_h/_ %‘ ?—{T — 5 P AR
3
%z%,?ﬂxmmam- a)1 b) 2 c)\/_ d) V5
a)9 b) 11 c)12 d)13
_ pq ,/p+x+,/p x
336.If x = W_m
1+px |1—qx
. =1 - 2 +x+,/p-
330. If Fy Py , then what are the non-zero afr x = pq \/;: \/p z T % .
solutions of x ? a) q b)p—gq
1+px |1—-gx 1 1
uﬁlpx /1+qx 1 8@ x & AT 7o o d) both g and _
F1 2
337.1f a+ b —c=12 and a? + b% + ¢? = 110,
)+ / Zp *q then which among the following relations is

/— true?
b)iﬁ P-4.P*q (p) ab + bc + ca = 34
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() ab + bc — ca = 17 e a+b+c=2 IR ab+bc+ca=

_ =1
(habbera=17 @ @ o e

e a+b-c=12 IR a?+b2+c% = AT FU |
. .. 1 2
110, PreRfRa F ¥ P masw ag 2> PO )6 425
8 342.1f x=2++3, y=2—+3and z =1, then
(p)ab + bc + ca = 34 whatisthevalueofi+1+i+2[l+1+
(q) ab + bc — ca = 17 . yz xz xy x y
(r)ab — bc + ca =17 ;]=?
(s) ab — bc — ca = 17 IR x=2+V3, y=2-V3aurz=1g§,a
a)r b) c) d)s
1 P Zp LIyt v A A R
yz  xz Xy x y z

338.If  2x% +y? + 822 —2V2xy + 42yz - a) 25 b) 22 c) 17 d) 43
8zx = (Ax + y + Bz)?, then the value of
(A% + B2 — AB) is: 343.a+b+c=3, -+,+-=2, a’+b’+
gfe  2x2 4+ y2 +82% —2V2xy + 4\2yz — c? = 6, find abc = ?

-3 1,1 . 1_ 2 p2 4 02 —
8zx = (Ax +y + Bz)?, @t (A% + B?> — AB) atb+c=3, -+, +-=2,a"+b"+c" =
FT AT & 6%, abc AT &V |
a)16  b)14 )6 d) 18 a)g b)% c)§ d) Can’t say

330.f x+y +2z=19, x*+y*>+z%2=133

' 344, 1f2 + 142 =18%+2 4+ 5= 0, wherep, q, 7
and xz = y*, then the difference between z a b _'c p q T

2
and x is: and a, b, c are non zero, then the value of % +
e x +y 4+ z = 19, 22+ y? + 22 =133 @,
2 2 )
I xz = y? g At x 3R z & fig iR & 3F1T2+2+5=1&5+2+5=03|ﬁp,q,r
a)6 b)5 c)3 d) 4
ﬁabcﬁ%ﬁ%?ﬁp+ +——
340.1f x*(x+y+2z) =36 y*’(x+y+2z)= a)-1 b)0 o1 d)Z
81, Z2(x+y+2z)=144, xy(x+y+2z)=
54, yz(x+y+2z) =108, zx(x+y +2z) = 345. 1§20+ 9471242, 1 pqr = —1and
72, then x =? a b el P4

abc =1 and p, q, r &a, b, c are non-zero,

e x*(x+y+2) =36 y2(x+y+2z) = 2 2 2
Y Y Y thenfindZ—2+Z—2+z—2.

81, Z2(x+y+2z)=144, xy(x+y+2z) =

b
54, yz(x +y+2z) =108, zx(x+y + 2z) = afe §+%+£=1,§+a+§=1,pqr=—1
72 8,3 xF1 A AT F | A abc=18% 3R p, q,r T abc
a)6 b) 7 c)2 d)4

el—amw%a’r"+ +—311?raﬂ‘r|

341.f a+b+c=2 and ab+ bc+ca=—1, a)-1 b) 0 C)3 d) 2
then (a + b)?2 + (b + ¢)? + (c + a)? =2



By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

SUBSCRIBE “e1 coaching center” on YouTube & get: e
O} '#*‘E]

Best content for SSC CGL, CHSL, CPO, MTS, CDS, Railway "" L
Latest Exams questions solutions

Best series for All competitive Exams

SSC CGL Tier 2 (2011 to 2021) All ques Chapter wise with pdf

: *Dan

S

346. Ifa—lzb, b—lzcand c—lza, then
a b c

1i.,1.1_,

ab  bc '

Elﬁ'a—izb, b—%:cHﬂTC—%:a%’,?ﬂ
1,1, 1,

ab bc !

a)-3 b)-6 c)-1 d)-9

347.1fa = 7,b = 5,c = 3, then the value of a? +
b?>+c>—ab—bc—cais

IRa=7b=5c=3 & @& a?+b%+
¢ — ab — bc — ca T ATA:
a) 12 b) -12 c)0 d) 8

348. If x =2019,y = 2020,z = 2021 then the
value of x? + y* + z% — xy — yz — zx =?
T x=2019,y =2020,z=2021 & a

x> +y*+z>—xy—yz—zx =?
a)3 b) 4 c)6 d)2

349. If x =997,y = 998,z = 999 then the value
of x> + y? + z? —xy — yz — zx =?
T x =997,y =998,z=999 & @& x2+
y:+ 2z —xy—yz—zx =?
a)o b) 1 c)-1 d)3

350.If x+y+2z=22 and xy+ yz + zx = 35,
then what is the value of (x —y)?+ (y —
z)*+ (z — x)*?

IfE x+y+2z=22 T xy+yz+zx =35
A (x—y)?+»—2)>%+(z—x)*® AW
4T §?
a)379  b)681

c) 758 d) 715

351. If xy + yz+ zx = 6 and x% + y? + z> = 13
then%(x+y+z)
[(x =%+ —2)* + (z—x)?] =?
IR xy+yz+zx=63T x2+y* +22 =
13§, ?-I’f%(x+y+z)

[(x=»)?+ -2+ (-2 =?

a) 35 b) 30 c) 25 d) 24

352.If a=x+y,b=x—y,c=x+2y then
a’ + b*+c?* —ab — bc — ca =?
AR a=x+y,b=x—y,c:x+2y% ar
a’ + b*+c?* —ab — bc — ca =?
a)4y*  b)5y? c) 6y d) 7y?
353.1f a’?+b%?+c?—ab—bc—ca=0 then
a:b:cis:
IR a’?+b>+c —ab—bc—ca=0 gal

a:b:c &
a)1:2:1 b)2:1:1
c)1:1:2 d1:1:1

354.1f x*+y*+2z2=xy+yz+2xz then the
3xt+7y*4524
5x2y2+7y2z243z2x2

value of

R 2+y2+z2=xy+yz+xz & a
3xt+7y*4524
5x2y2+7y2z24322x2

a)2 b) 1 c)o d-1

355.1f x*2+y*+2z2=xy+yz+xz then the
4 4 4

value of X7y +52" .

x2y+y2z+z2x

AR 24y’ 4+z22=xy+yz+xz & a

3x*+7y*+524 _

x2y+y2z+z2x

a)2 b)5 c)o d) Can’t say

356. For.-real a, b, c if a*> + b* + ¢*> = ab + bc +
ca, the value of aTH is:

qEdafd®d HEIAU a,b,c & AT IR a? +

a+c

b2+ c2=ab+bc+ca & ar -~ @I AL
a)2 b) 1 c) 0 d)3

357. IfxiO,y¢0,z¢Oandlz+iz+lZ=l+
x y z xy

1 1 . .
—+ —~ then the relation among x,y, z is

yz
Er oy x¢0y¢0z¢03ﬂti+i+lz=
1 1

xy yz zx %‘?—ﬂxy,zEFrEFEITﬁQHT%?

ajx+y+z=0

+-+1=0
X y z

b)x+y=1z

dx=y=2z
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358. If 3 (a? + b? + ¢?) = (a + b + ¢)?, then the
relation between a, b and cis

N 3(@+b*+c®D)=(a+b+c)? & ar

a,b 3R cH FaT FFEy 2
aJa+ b +c b)a=b+c
cJa+b=c da=b=c

359.1f x =2,y =1and z = —3, then x3 +y3 +
z3 — 3xyzis equal to
IR x=2,y=13F z==3, arx3+y3+
23 — 3xyz Fa®H @AW §?
a)6 b) 0 c)2 d)8

360. If a=2.361,b=3.263 and c=
5.624then the value of a®+b3—-c3+
3abcis

IR a=2361,b=3.263 3R c=

5.624¢, dta® + b® — c® + 3abc T AWT:
a)(a—b)(b—c)%+ (c—a)3

b)3(a—b) (b—c)(c—a)

c)o

d)1

361.If a=4.36,b=2.39 and c¢ = 1.97then
the value of a® — b3 — ¢ — 3abcis

INa=4.36,b=2.39 3R c=1.97¢ ar
a® — b3 — ¢ — 3abc FT AA;
a)3.94 b)2.39 )0 d) 1

362.If a=1.732,b=3.217 and ¢ = —4.949,
then the value of @® + b3 + ¢ + 3abcis

3R a=1.732,b=3.217 3T c=

~4.949%, @ a3 + b3 + 3 + 3abc T AW
a)o b) 6abc c)3abc d)—6abc

363.1f a=4.12,b=1.73 and c¢ = 5.85, then
the value of a® + b3 — ¢ — 3abcis

ITMMa=4.12,b=1.733c=5.85¢, a
a3 + b3 — ¢ — 3abc FT ATA:

a)o b) 6abc c)3abc d) —6abc

2 2
364.fx+y+z=0, thenx—+y—+

3111Tx+y+z—0%?ﬁ ;

a) (xyz)3 b) x2 + y? + 22
c)9 d)3

z  zZx Xy

365. If x + y = z, then the expression x3 + y3 —
z3 will be equal to
IR x+y=zg dxd+y> — 23 & AW:
a)o b) 3xyz
c) —=3xyz d) z3

366. If p,qand r be such that p+q =1 and
pqr = 30, then what is the value of p3 + g3 —
r3
I p g3 r@ & F p+qg=r3IiR
pqr =30 @, A p3+q° —r° F AT FAT
A
a)o b) 90
c)-90 d) Cannot be determined

1 1 1
367.If a3z + b3 + ¢c3 = 0, then a relation among

ab,cis:

1 1 1 .
IR as+b3+c3=0 § avabc & FT
HFET 2
aJa+b+c=0
b) (a+ b +c)® =27abc

cJa+ b+ c=3abc
dad+b3+c3=0

1 1 1
368.1f a3 +b3+c3=0, then (a+b+c)® is
equal to:
1 1 1
I az+b3+c3=0 8, @ (a+b+c) =2
a) 81abc b) 729a?b?c?
¢) 729abc d) 81a%b?c?

369.1f a>—b3—c3=0 then a°—b°—c° —
3a3b3clis
I a3 -b3—-c3=0% A a®—bp°—° -
3a3bp3c3 ¢ :
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a)l b) 2 c)o d)-1 b)2(a+ b —2c)(b+ c—2a)(c+a—2b)

370.f x =a—b,y=b —c,z = c — a, then the
numerical value of the algebraic expression
x3+y3+23-3xyz
AN x=a—-by=b—-cz=c—a, g ar
x3 +y3 + 23— 3xyz &1 ALA:
aJa+b+c b) 0
c)d(a+b+c) d) 3abc

371.If x=a(b—c), y=b(c—a), z=c(a—-
b) then the value of (E)g + (%)3 + (f)sis:
A x=alb—c), y=b(c—a), z=
cla—b) & a (5)3 + (2)3 + (f)3 FT A

b
xyz 3xyz 2xyz
Ao IO ) abe d) Zbe
372.1f x=(@a+b—-c),y=(b+c—a)&z=

(c+a—b), then (x—a)®> +(y—b)>+ (z—
c)3=7?

I x=(a+b=c), y=(b+c—a) 3R
z=(c+a—-b) A (x—a)>+ (y—b)>+
(z — ¢)3 &1 AT AT F |
a)3(a—b)(b—-c)(c—a)

(x—-a)(y—b)(z—c)

b)3xyz
d) 3abc

373. If x=Mb-c)(a—-d), y=(c—a)(b—-
d), z = (a — b)(c — d), then the value of x3 +
y3 + z%is equal to:

I x=b-c)(a-d),y=(c—a)b-
d),z=(a-b)(c—d) &ar B+y3+z23®1

AT T §
a) xyz b) 2xyz
c) 3xyz d) —3xyz

374. (a+b—2c)®*+(b+c—2a)3+(c+a—
2b)3 is equal to:
(a+b-2c)3+(Mb+c—-2a)3+(c+a-—
2b)} T § :
a)(a+b—-2c)(b+c—2a)(c+a—2b)

¢)3(a+b—2c)(b+c—2a)(c+a—2b)
d)-3(a+b—2c)(b+c—2a)(c+a—-2b)

375.If x+y+z =6, then the value of (x —
13+ (y—2)3+(z-3)3is
AN x+y+z=6 %‘ Gl
(y—2)3+ (z—3)3 &7 AW
a)3(x—1)(y+2)(z—-3)
b)3(x+ 1)(y —2)(z—3)
c)3(x—1)(y—-2)(z+3)
d)3(x -1y —-2)(z-3)

(x—1)3+

376. Out of given responses one of the factors of
(a® — b?)%* + (b — ¢®)3 + (¢ — a?)3is
AT & @ FlF9T (a? - b2)3 + (b% - 2)3 +
(c? — a?)® & TF IOUTES §?
a)(a+b)(b—c) b) (a + b)(a + b)
c)(a~ b)(a~=b) d(b—-c)b-c)

377.The value of [(a? —b?)3 + (b? —c?)3 +
(2 —a®*)3]+[(a@a=b)3+(bh—-0c)3+ (c—
a)3] is equal to : (given a # b # c)

[(az _ b2)3 + (bz - 02)3 + ((,‘2 _ a2)3] =
[(@a—b)2+bh—-c)2+(c—a)?] &1 &AW
fFad W

a)(a+b)(b+c)(c+ a)

b) (a2 — b?)(b% — c*)(c? — a?)

c) (a% + b?)(b* + c®)(c? + a?)
d)(a—b)(b—c)(c—a)

378. Simplify the following expression.
T Uor& a1 WA |
5(a®-b%)> +5(b6—c8)* +5(c6-ab)’
2(a3-b3)+2(b3-c3)° +2(c3-a3)°
a)= (a® + b¥)(b? — ¢)(c® - a?)
b)2 (a® + b*)(b* + ¢3)(c® + a?)
) ; (@® — b3 (b3 - 3)(c® + a®)
d)2 (@® - b)(b* + 3)(c* + @)
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379.The expression (a+b—c)®+(a—b+
)3 — 8a3 is equal to:
gaAF(a+b—c)+(@a—b+c)-

T &

a)6a(a—b+c)(c—a—>b)
b)3a(a+b—-c)(a—b +c)
c)6a(a+b—-c)(a—b+c)
d)3a(a—b+c)(c—a—b)

8a3 THS

6 6__ .6
380. If a? + b? = ¢ then find S =?
6_
R a2 + b2 = 2 @ T o A
FU |
a)3 b) -3 c) 3abc d)1

381.If a%?+ b%*—c*=0, then the value of

2(ab®+b®—c®)

3a2b2c2
6_ .6
IR a2 + b2 — ¢ = 0,8 220D g ey
&
a) 2 b) —2 1 d) 3

382. If x% x?.x° = 1 then the value of a3 + b3 +
c3is
IR x%xb. x =18 ar a3 + b3 + 3 FT AT
a)9 b)abc c)Ja+b+c d) 3abc

3
383. Ifx+y+z—Othenthevalueof[yZx] +

=] + [

afe x+y+z=0_ % @ [Zﬂ]3+

SR hilikd

a) 24xyz b) —24xyz
c) 3xyz d) xyz

384.If x = p+q+r ,then find (x —p)3 + (x — q)3 +
(x—1)° - 3(x —pP)x—-q)(x—1).

afy x=% g al x-p3+@x-q)B+
(x-1)3-3(x-p)(x— q)(x — 1) AT F |
a) pqr b)p+q+r

c)o d)3

(0.545)(0.081)(0.51)(5.2)
385. The value of 0324+ (0221)3—(0.545)3

(0.545)(0.081)(0.51)(5.2) ?
03203+ (0221)°—(0.545)F 71 el Gl 7

a)-1 b)1 c)3 d)-3
. (a—b)?
386. The value of expression b0
(b—c)? (c—a)?
(a-b)(c—a) = (a—b)(b—a)
(a—b)? (b-c)? (c-a)? Poar
(b=c)(c-a) ~ (a-b)(c—a) = (a—b)(b-a) T )
a) 0 b) 3 c)§ d) 2
387.f x+y+z=0, then the value of
x+y)3+(y+2)3+(z+x)3-17xyz , .
10(x+y)(y+2)(z+x)
afg x+y+z=0 g ar
(x+y)3+(y+z)3+(z+x)3—17xyz AT .
10(x+y)(y+2)(z+x) T %'
a)3xyz b)a c)o d)2

388.If a®+ b +c3=3abc and ab,c are
2a+7b+9c
a+2b+3c”

e a3 +b3+c3=3abc & I abc

HATCHS TEAY &, ar 22729 a9 &y |
a+2b+3c

d) Can’t determined

positive numbers, then find

a)g b)1 ¢)3

389.I1f a3+ b3+ c3=3abc and a, b, care
positive numbers.
Which option is correct?

gfe aB+b3+c3=3abc © iR
a, b, ¢ UITcAS W& § af i a1 [Adeq
a8

aJa+b+c=0
c)Bothaandb

b)a=b=c
d) Can’t say

390.If a3+ b3+ c® =3abc and a, b, c are
distinct numbers. Which option is correct?
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afe a3+b3+c3=3abc & ik gfg (5x—3)3 + (2x+5)3 +27(4 —3x)% =
a, b, c e wEgw § A HlT W1 Aoy 9(3 — 5x)(2x + 5)(3x — 4), & dl (2x+1)FT
e 2 AT FIT §I?
aJa+b+c=0 b)a=b=c a)-13 b) 15 c)-15 d)7
c)Bothaandb d) Can’t say
396. If 2x+33+(x-8)3+(x+13)3 =
391. If u, v and w are real numbers such that u3 — (2x+ 3)(3x — 24)(x + 13), then what is the
8v3 — 27w = 18uvw, then which one of the value of x?
following is correct ? HW  (2x+3)3+(x—-8)3+(x+13)3 =
IR u, v AR w IR HEAw § SE (2x+3)(3x —24)(x + 13), @ x & AW
ud — 8v® — 27w = 18uvw, a@t AT & & T &2
FieT @1 |E B2 a)—1.5 b)-2.5 c) -2 d) -1
AQu—-v+w=20 bju=-v=-w
cJu-—2v=3w d)u+2v=-3w 397.1f (2a+3)%*+Ba—-1)3%+4a-5)3=
3(2a+3)(4a—5)(3a—1) and a > 1, then
392. If x3 +27y3 + 6423 = 36xyz , then the (Ba+2)=?
relationship between x,y and z is e (2a+3)B3+Ba-1)3+M@a-5)3=
A x® +27y° +642° = 36xyz ¥, A xy 32a+3)da=5Ba-1DE dRa>1ar
IR z H gFaew ¢ Ba+2) =?
a)x+y+z=0 b)x—3y+4z=0 a)8 b) 11 c)14 d)3
c)x+3y=4z dx+3y+4z=0
398.If x =z = 225and y = 226 then the value
303.1fF (x—7)3+(x—8)3+ (x+6)3=3(x— of x3+y3 +23 - 3xyzis
7)(x — 8)(x + 6), then what is the value of x IR x=z=2253Ry=226arx3+y3+
? 5 . . z3 — 3xyz T HAIT:
ML =7+ (-8 + (x +6)* =3(x - a)765  b) 676 ¢) 674 d) 576
7)(x — 8)(x + 6) &, Y x FT AT F4T § ?
a) 6 b) 8 c) 10 d) 3 399. Ifa = 34,b = ¢ = 33, then the value of a3 +
b3 + ¢ — 3abcis
394.1f  (5x+1)°+(x—3)°+83Bx-4)>= T a=34b=c=33 & @ a®+b3+
6(5x+1)(x — 33)(3x —4), ;hen xis equalsto: 3 — 3abc:
e Gx+ D'+ (-3 +8Bx -4 = a) 0 b) 111 ¢) 101 d) 100
6(5x+1)(x—3)3x—4) & a x & A
Aeaf@d & sUeT gem: 400.If a = 299, b = 298, c = 297 then the
5 1 2 3 value of 2a3 + 2b3 + 2¢3 — 6abc s
e o3 )3 % I a = 299, b = 298, ¢ = 2977, a
395. 1f (5x—3)% + (2x+5)% +27(4 — 3x)% = 2a* +2b* + 2¢* — 6abc FT A FATC ?
9(3 — 5x)(2x + 5)(3x — 4), then the value of a) 5154  b) 5267 c) 5364 d) 5456

(2x+1) is:
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401.1f a=25,b = 15, ¢c = — 10, then the
| f ad+b3+c3-3abc
value o (a=b)2+(b—c)2+(c—a)? s
IR a=25b=15c= —10g @
ad3+b3+c3-3abc
(a-b)2+(b-c)%+(c—a)? T A
a) 30 b) 15 c)-30 d) 15

402. If x =32.5, y=34.6 and z = 30.9, then
the value of x3 + y3 + z3 — 3xyz is 0.98k,
where K is equal to:

Iy x=32.5 y=34.63R z=30.9 g ar
of x3 + y3 + z3 — 3xyz FT AT 0.98k BT

ST KA AT
a)1033 b)933 c) 1026 d) 921

403. Simplify the following expression.

Arfaf@a saaa & g AT

(59%59x%59)+(54%x54%x54)+(57%x57%x57)—-3(59)(54)(57)

(59+54+57)
c)38

a)76 b) 170 d) 19

404. If x + y+ z = 6 and Xy + yz + zx = 10 then
the value of x3 + y3 + z3 — 3xyzis:

AR x+y+z=63ﬁTxy+yz+zx=10%
ar x3 +y% + 23 — 3xyz &1 AN

a) 36 b) 40 c) 42 d) 48

405. If x+y+z=1 xy+yz+zx=
—1, xyz=—1,thenx3 +y3 + 23 =2

afg

x+y+z=1xy+yz+zx=

1, xyz=—-1%, @ x*+y3+23 &1 AR

B19I ?

a)l b) 0 c)-2 d)-1
406. If x+y+z=2,xy+yz+zx=

—11 and xyz = —12, then what is the value
of a3 +y3+23—27

afe x+y+z=2,xy+yz+zx=-11
IR xyz=-12 g, ar /3 +y3+23 -2 &
AT &

a)6 b) 12 c)9 d)8

407.1fx + y + z = 6 and x* + y* + z% = 20 then
the value of x3 + y3 + z3 — 3xyzis
RN x+y+z=63Rx2+y2+22=20 &
ar x2 +y3 + 23 — 3xyz HT A

a) 64 b) 70 c) 72 d) 76

408.1f a+b+c=15and a?+b*+c%=
83 then the value of a® + b3 + ¢® — 3abc s

N a+b+c=153Ta? + b2+ c? =83
a a3 + b3 + 3 — 3abc FT AN

a)200  b) 180 c) 190 d) 210

409.1f a+ b +c=6and a’> + b? + ¢* = 14 and
a3+ b3 + ¢ = 36 then the value of abc is

N a+b+c=63T a2 +b%+c% =14
IRaAB+p3+c3 =368 AV abc &1 AW:

a)3 b)6 c)9 d) 12
410.f x+y+z=19, xyz=216andxy +

yz+zx =114, then the value of

VX3 +y3 +23 —3xyzis

IR x+y+z=19 xyz=2163R =xy+

yz+zx=114%, @ /x3 +y3 + 23 — 3xyz

T AT &

a) 19 b) 30 c)18 d) 35

411. f x+y+z=1,x*+y*+2z*°=2and x>+
y® + z% = 3, then what is the value of xyz?

gfe x+y+z=1x2+y>+2z2=2d9Ul
x®+y°+2°= 3%, xyz & AT 4T §?

1 1
C)—E d)z
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412. If x+y+2z=19, xyz=216 and xy+

yz + zx = 114, then the value of x3 + y3 +
z3 + xyzis:

I x+y+z=19,xyz=216 3T xy+
yz+zx=1148 @ x>+ y3+ 23 +xyz &0
AT AT FY

a)1225 b) 1441 c) 361 d) 577

413. If x*+y>+2z>°=133, xy +yz+zx =

114 and xyz = 216, then the value of x3 +
y3+2z3is

X% +y?> +22=133, xy + yz + zx =
114 3 xyz=216% av x®+y3 + 23 &
HTel

a)948  b)999 )942  d)1009

414.f x+y+z=17, xyz=171 and xy+

yz+zx =111, then the value of
V(3 +y3 + 23 + xyz) is:

I x+y+z=17,xyz=171 3 xy+
yz+zx = 1118, @ /(3 +y3 + 23 + xyz)
FT AT AT FY

a)—64 Db)4 c)o d) —

417.f x +y+z=13, x> + y* + 22 = 133 and

x3 + y3 + z3 = 847, then the value of 3/xyz
is:

afe x+y+z=13,x*+y*+2%>=133
A3 +y3 +23 =847 &,V }/xyz &1 AT
A |

a)8 b) 7 c)—9 d) -6

418.x, y and z are real numbers. If x*>+ y* + z° =

13, x+y+z=1and xyz =1, then what is
the value of xy + yz + zx?

X, y 41 zmﬁﬂ?mﬁ'%ﬂﬁx3+)’3+
22=13, x+y+z=1 3R xyz=1%
xy+yz+zx$|‘3=|1?|'<'=F¢1T%‘?

a) -1 b) 1 c)3 d)-3

419.1f a+b+c=9, ab+ bc+ ca =26, a®+

b®>=91, b+ c®* =72 and c®+ a® = 35,
then what is the value of abc?
gTa+b+c=9, ab+ bc+ca =26, a®+
b®=91, b+ c3=72aUc®+a® =358,
a¥ abc &1 AT FIT 82

a)48  b)24 c) 36 d) 42

415.I3fx-|;y+3z=11,x2+y2+22=13f: and oL x+y=4xy=2y+z=5 yz=

i); + y° + z°> = 881, them the value of {/xyz 3, z3+x3=6a3nd Zx = 4, then find the value

I x+y+z=11 x>+ y* + 22 = 1333 :f-é-c +yx:i;=_ixi,)zz=2,y+z=5,yz=

B+y3+23=881 %,V 3/xyz &1 AW 3, 7+x=63 zx=4,a B3 +y3+2°—
FIT gHI: 3xyz & AT AT HIfAT
a)—6  b)6 c) -8 d8 a) 150.75 b) 152.75
416. If B+ B =adat+yi+z= c)151.75 d) 153.75

2 _ -
a“&x+y+z=a,thenfind xyz . 421. Simplify the following expression.

e Py +=ad Pty =d T 1T o F A AT B
3ﬁTx+y+z=a%'a’fxyzmqﬂ’f| (2a—b—3c)(4a2+b2+9c2+2ab+

a)a b) 0 c) a? d) a3 6ac — 3bc)
a) —8a® + b3 + 27 ¢3

b)8a® + b3 +27 3
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c)8a3 — b3 — 27 ¢3 — 18abc
d) 8a® — b3 — 27 ¢ + 18abc
422. If

2x + 3y + 4z 11, 8x> + 27y® + 64z° =
and xyz = 1, then the value

4x* + 9y® + 16z°-6xy - 12yz - 8xzis:
afe

2x + 3y + 4z 11, 8x3 + 27y3 + 6423

, |

iR xyz = 1 g,

4x* + 9y*® + 16z°-6xy - 12yz- 8xz &I

A Fa@T9|

a)3 b) 4 c)5 d) 6
423.If x3+27y3 + 64z3 = 36xyz, then the

relationship between x, y and z is:
Ifg x3 + 27y + 6423 =36xyz & @ xy
T z & T H@eT ¢

a)x+y+z=0
c)x+3y=4z

b)x—3y+4z=0
dx+3y+4z=20

424.1f a+ b—c =7, ab— bc — ca = 21, then
a® + b3 — 3 + 3abc =?
3 a+b—-c=7,ab—bc—ca=21, @
a3 + b3 — 3 + 3abc =?

a)117 b)98 c) 124 d) —98

425. Consider the following statements
1. (a — b — ¢) is one of the factors of 3abc +
b3 + % — ad.
2. (b+ c—1) is one of the factors of 3bc +
b3+ 3 —1.
Which of the above statement(s)
correct?

fafaf@a Faat W AR &
1) (a—b —c),3abc + b3 + ¢3 —
ureTEst F ¥ v
2)(b+c—1),3bc+b3+c3-1%
quEst # ¥ vF B

is/are

a’ &

10526, p® + 3 + 13 —3pqr=3. I

105

IRFT FIT A X FT A A &/ &2
a)Only 1 b) Only 2
c)Bothland2 d) Neither 1 nor2

a=q+r,
b=r+p and ¢ =p+q, then what is the
value of a®+ b3+ ¢ — 3abc?

PP+q®+1r3-3pgr=3 dfe
rh=r+pdd c=p+q & A a®+b>+
c® — 3abc FT AT FT §?
a)4 b) 8 c)2

a=q+

d)6

27.f x*+y*+2°=32+=xyz),P=y+z—
Xx,Q=z+x—y and R=x+7y—z then
what is the value P+ Q%+ R® — 3PQR?

e x°+y°+22=3Q +xyz),P=y+z—
X, Q=z4+x—-y ddMT R=x+y—z %, ar
P?+Q®+R3 — 3PQR T AT AT 82

a) 24 b) 8 c)12 d) 6

428. a, b, ¢ are non-zero real numbers and a? +
b% + c? = 2ab + 2bc — 2ca then the value of
a® — b® +c® —3abcis
a, b, ¢ - aFafdw wEaw § 3R a? +
b? + c2 = 2ab + 2bc — 2ca®, ava3 — b3 +
c® — 3abc &1 HATT:

a)o b) 6abc c)3abc  d)—6abc
. . p*-p
429. The simplest form of expression 23T 6p
pi-1 Pt
p2+3p p+1
p*-p ®°) 2y o
2p3+p? p2+3p ton p+1 il a’_l-l
2 1 1
a) 2p b) 2p2 cp+3 d -3
430. Th | f L
- Ihe value 0 a’+ax+x?  a?-ax+x?
2ax
at+aZx2+xt
a)2 b) 1 c)-1 d)o
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431.If a+ b =1, find the value of a3 + b3 —
ab — (a? — b?)?

N a+b=1 & @ a*+b3—ab-
(a? — b?)? T AT
a)o b) 1 c)-1 d) 2

432.1f a+ b =1 and a® + b® + 3ab = k, then
the value of k is

IR a+b=13Ra3+b3+3ab=k AV k

T HTel:
a)l b) 3 c)5 d)7

433.If x +y =7, then the value of x> +y3 +
21xyis
W x+y=7 8 a@ x3+y3+21xy &I
HToT:
a)243  b)143

c) 343 d) 443

434. If x + y = 3 then what is the value of x3 +
y3 4+ 9xy?
g x+y =38, a 23+ y3 + 9xy &1 AW
4T 7
a)15

b) 81 c) 27 d)9

435.1f a + b = 1, then a*+ b*— a3 — b3 —
2a’b? + ab is equal to

e a+ b =18 @ a*+b*—ad—b3—

2a%b? + ab RS SUST M0 ?
a)1 b) 2 c) 4 d) 0

436.1f a? +b?> =2 and c? + d? = 1then the
value (ad — bc)? + (ac + bd)? is

IR a?+b2=2 3R 2+d2=1 @
(ad — bc)? + (ac + bd)?:

4 1
a); b)z C)l d)2

437.1f a® + b* =2 and c? + d? = 1then the
value (ad — bc)? + (ac + bd)? is

WM a?+b?2=2 IR 2+d?=1 @
(ad — bc)? + (ac + bd)?:

4 1
a); b)z C)1 d)Z

438.1f /(1 — p2)(1 — q2) = ? Then what is the
V2p% +2q% + 2pq +

value of
V2p% + 2q% — 2pq?
™ JA-pHa-¢H=2 ¥ a
\V2p% + 2q?% + 2pq + /2p% + 2q% — 2pq T
AT 4T §?

a) 2 b)vV2. ¢)1

d) none of the these

439. If x = 3\/a +/(a? + b3) + i/a —/(a? + b?)
then x3 + 3bx is equal to
3T31Tx=3\/a+ (a2+b3)+3\]a—,/(a2+b3)
g ar x3 4 3bx TR A T2
a)0 b) a c) 2a d) 2

440. If x1x,x3 = 4(4 + x1 + x5 + x3), then what
is the value of [2+1x1] + [ijz] + [2+1x3] ?
e xxx3 =4(@ +x;+x, +x3)8 , A
[2+1xl] + [Z-I-lxz] + [Z:xg]q;r AT 41 %?

a)1 b)% c) 2 d)%

441. Find ab(a+ b) + bc(b+c) + ca(c+ a) +
3abc,ifa+b+c= 17 and ab + bc + ca =
6?

I a+b+c=173R ab+bc+ca=6
& & ab(a+b)+bc(b+c)+calc+a)+

3abc &T AT AT FI?

a) 42 b) 119 c) 102 d) 23

442. If —+—+———3 and a? + ¢% = 2b?

a+c a+b
then ab + bc + ac =?




_tza-l @ coaching center
£

By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

Download the App now & get:

The Best Paid courses in affordable price with QRPs (Only courses with QRPs)
FREE structure PYQs (All previous year papers at one place in structure way)

FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab)

FREE MOCK TESTs (Free full mock tests & sectional mock tests)

FREE MONTHLY CURRENT AFFAIRS PDFs with quizzes (Quiz is the best format to remember any thing)

Download our app

2 'I"-F*"w "l
D‘;' ! "' ‘.I
i

IRy 2+ 2+ =33 a?+c% =2p°

b+c a+tc a+b
ar ab + bc + ac =?

g a+rb+c=0)

2
a)c b) c? o) % d) —b?

443. ab(a — b) + bc(b — ¢) + ca(c — a) is equal

to:

ab(a— b) + bc(b —c) + ca(c — a)
afaf@a & ¥ e "SR
a)(a+b)(b—c)(c—a)

b) (a—b)(b+ c)(c—a)
cj(@-b)(b-c(c—a)
d)(b—a)(b—c)(c—a)

a44. x(y—z2)(y+2z) +y(z—x)(z+x) + z(x —

y)(x + y) is equal to:
x(y—2)(y+2)+y(z—-x)(z+x)+2z(x—
Y)(x+y) S § :

a) (x+y)(y +2)(z+x)
b) x —y)(x—-2)(z-Yy)
x+y)(z—-y)(x—2)
d (y—x)(z-y)(x—-2)

445. Find the value of (a+ b + ¢)* — (b + c)* =

(c+a)* - (a+ b)* +a*+ b*+ c*.
(a+b+o)*—(b+o)*—(c+a)*—(a+
b)* + a* + b* + ¢* FT AT AT FU |
a)12abc(a+b+c) b)abc(a+b+c)
c)2 d) abc

446. Find the value of (bc + ca + ab)? — b3c3 —

ca® — a3b3.

(bc + ca+ ab)? — b3c® — c3a® — a®bh® #
AT AT FU |

a)3abc(a+ b)(b+ c)(c+ a)

b) (a+ b)(b+c)(c+ a)
c)(a—b)(b—c)(c—a)

d) 24 abc

447. Find the value of a*(b? —

448. Find the value of

c?) + b*(c? -
a?) + c*(a? - b?).
a*(b? — c?) + b*(c* -
AT AT A |

a) 3a%b?c?

b) (a? — b?)(b? — c?)(c? — a?)
c) —(a? — b?) (b? — c?)(c* — a?)
d) (a? + b*»)(b? + c*)(c? + a?)

a?) + c*(a? — b?) &

a®(b+c) b*(c+a)
(a=b)(a—c) (b—c)(b—a)

c3(a+b)
(c—a)(c—b) "
3 3 3
eI mSes T eaen T T
AT A |
a) abc b)a+b+c
c)ab + bc + ca d)3

449. (4x3y—6x2y> +4xy3—y*) can be

expressed as:
(4x3y —6x2y? +4xy® —yH) ® ¥ fo@r
ol dhdT %:

a) (x — y)* —x*
o) (x +y)*—x*

b) (x + y)* — y*
d) x* — (x —y)*

450. (4x3y—6x*>y* +4xy3>—y*) can be

expressed as:
(4x3y — 6x2y% +4xy3 —yH) & Ha @
ST Wehell ¢

a) (x —y)* —x*
c) (x +y)*—x*

b) (x + y)* —y*
d) x* — (x —y)*

451. Simplify the given expression.

RT T Tais FT AT AT F|
(=2 - (x+2)
a)—4(3x+:—3)
c)—4(x+%)

02 ()

b) —4 (3x - :—3)
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452. If
Bxy?), then what is the value of%

(4x +2y)3 + (4x — 2y)3 = 16(Ax3 +
AZ + BZ?
e (4x+2y)° + (4x —2y)3 = 16(Ax® +
Bxy?),at ZVAZ + B2 F1 AT ¥4 §?

a)8 b)3 c)5 d) 7

453.1f (3x+2y)3+ (3x — 2y)3 = 3kx (3x* +
4y?), then the value of k will be:
e (3x +2y)3 + 3x — 2y)3 = 3kx (3x% +
4y?), %, @ k FT AT AT B
a) 18 b) 9 c)3 d)6

454. If x = a + i andy =a— ‘—11 then the value of

Xt 4yt — 2x2y? =
3F1Tx=a+%3ﬁ1'y=a—i%?ﬂ xt + oyt —
2x%y? =7

a)24  b)18 c) 16 d) 12

a b b c c a
455, If x—;+;, y—;+; andz—;+;, then

2_ 2 _ 529

what is the value of xyz — x

b b
L x=4-, y=StrAWz=—+0F,
A xyz — x2 — y2— z2 T AT FIAT &2

a)-4 b) 2 c)-1 d)-6
aZ+b2+c?
456.If a + b + ¢ = 0, then the value of e
is
aZ+b2+c?
W a+b+c=0§ @ “——— H A
a)o b)1 c)2 d)3

457.1f X+ Y + Z = 0, then what Is the value of
3yz+x2+z2 2

2y%—xz
_ 3y2+x2+22
AE X+Y+Z= 0R, @ = F A
T 2
3 5
a) 2 b) 1 C)E d)g

458.If x + y +z=
2+ y*+ 25 =

o0, then the value of
(2% — xy)is:

e x +y+z=0 & @ (x%2+ y2+ z%) =
(z% — xy) &1 HT &
a) -2 b) -1 c)2 d) 1

459.If a+ b+ c =0, then find the value of

a?b2+b2ct+c2a® *

_ (a?+b%+c?)?
Qﬁ at+b+c=0 %I Fﬂ. a2b2+b2c2+c2a?
AT AT Y |
a)1 b) 2 c)3 d)4

460.If a+ b+ c =0, then find the value of

a?b%+b2%c%+c%a?
at+bt+ct
a?b?2+b%c?+c2a?
qﬁ a+b+c—0§', Fﬂ' bt Ca)
AT AT |
2 3 1 3
461. If a+ b+ c = 2s, then
(s—a)2+(s—b)%+(s—c)%+s?
a2+b2+c2
AT a+b+c=2s g ar
(s—a)2+(s—b)2+(s—c)2+sz_
a2+b2+c2
a)a’+b*+c*> b)0 ¢)1 d)2

462.If ab + bc + ac = 0then the value of

1 .
1S
+ cz—ab)

1 1
+
(a2 —bc = b%Z-ac

317ITab+bc+ac=O%HT (ﬁ+
1 1 ) _
bZ-ac + c2—ab) =?
a)o b) 1 c)3 da+ b +c

463. Find the value of a(b — )3 + b(c—a)3 +
c(a— b)3.
alb—c)®+b(c—a)®+c(a—b)? &1 AW
AT FU |
a) 3abc
b) (a—b)(b—c)(c—a)
c)(a—b)(b—c)(c—a)(a+ b+ )
d(a+b)(b+c)(c+a)(a+b+c)




,tza-l @ coaching center
£

By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

Download the App now & get:

The Best Paid courses in affordable price with QRPs (Only courses with QRPs)
FREE structure PYQs (All previous year papers at one place in structure way)

FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab)

FREE MOCK TESTs (Free full mock tests & sectional mock tests)

FREE MONTHLY CURRENT AFFAIRS PDFs with quizzes (Quiz is the best format to remember any thing)

Download our app

PR
IJ'-;- By

A

464.If x*+2x3 +ax®*+bx+9 is a perfect
square, where a and b are positive real
numbers, then the value of a and b are

e x* + 2x% + ax? + bx + 9 TF FFYOT qar
€ S8 a dUT b YeIlcAS TRdiad TEAT ¢
ar a 3t b FT AT AT g ?

a)a=5b=6 b)a=6,b=
cJa=7,b=6 d)a=7,b=8
465. If =2 = 2, then what is the value of [L] +

z y—z

2]

X—Z

R =28, [ ]—]wma—m%?

a)o b)1 c)2 d)-1

1 1 1 1
466.If x = az+ a 2,y =az— a 2 then value of

(x* —x2y2 —1) + (y* —x2y%2 + 1) is
1 1 1

1
M x =az+az,y=az—a2¢ a1 (x* -

2y2 — 1)+ (y* —x%y%? +1) & AW Tal

|

a) 16 b) 13 c) 12 d) 14
467.1f (a+b+4){ab+4(a+b)} —4ab=0

1
and a# —4-, b+ —4-, then {m —
2‘234} is equal to:
1
a) 517 4117 b) o557 2117 c)— 2234 d)o

468.1fa+ b +c =1and a® + b3 + ¢ = 4, then

1 1 1
i =7
find a+bc + b+ac T ctab

I a+b+c=13R a+b3+3=4 8@,
1 1 1,
a+bc = b+ac ctab

a)1 b) -1 c) -2 d)3

469.For a>b. if a+ b =5and ab = 6, then
the value of a®? — b? is

IR a>b3iRa+b=5 3 ab=6 a¥
a? — b? &1 A
a)1 b) 3 )5 d)7

470. If x —y = 2, xy = 24, then the value of
(x* +y?)is
N x—y=2 xy=24,a (x*+y> &
HTeT:
a) 25 b) 36

c) 63 d) 52

471.1f x3+y3 =35 and x+y =25, then the

value of 1 + 1 will be
x y
IR ¥ +y3=353Rx+y=5 a §+§
T Hled:
1 5 2

472. Given that x3 +y3 =72and xy = 8 with
x > vy, then the value of x — y =7
M3 +y3=72 3IRxy=8;x>y, @
x—y=?
a)6 b) 2 c)8 d) 9

473.f p+ m =6 and p3 + m3 = 72, then the
value of pm is
W p+m=6 3P +m3=72 ¢ @
pm <l HTel:

a)6 b) 9 c)12 d) 8

474. If a® — b3 = 56 and a — b = 2 then value of
a?*+ b? willbe
3T a® - b® =56 3R a— b =2dra? + b?
hT HTo:
a) 48

b) 20 c) 22 d) 5

475.1f a — b = 3 and a3 — b3 = 27 then (a + b)

is equal to

R a-b=33Ra3-bp*=272 A (a+
b)'\q'm?-l'%:

a)3 b) 5 c)7 d)9

476. If a® + b3 = 9and a + b = 3, then the value

1 1,
of—+=is
a b
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M ad+b3=93Ra+b=3 ¢ a §+%
T A

1 3 5
d)-1
477. Ifi + L +-= = 1,then the value ofL +
- - 1-c 1-a
1_1b + i is
1 1
D0y 1T+—+:— 1ga —+—+
1
— 941 #|
1-c
a)l b) 2 c)3 d) 4
a b c
478. If 7a + =T + N, .2 then — + —1 3 +
1,
is
1-2¢
R S+ =t o+
1-2a  1-2b 1-2¢ 2 1-2 1-2b
1
CORIGH
1-2¢
a)-1 b) -4 c)2 d) 4
m—a? m—b? m—c?
479. 2t 2zt 2,z = 3, then the value of
mis:
m-a? m—-b?
b2+c2 + c2+a? + az+b2 =3 % Eﬂ- m T8 q’_l-l
a) a® + b? b) a? + b? + c?
c) a’? — b? — ¢? d) a? + b? — ¢?
m-3a®  m-3b®  m-3c
= :?
480. If e T o T Bap 9 then, m =7
m-3a’ m—3b3 m-3c®
= :7
i b3+c? c3+a3 + a3+h? 9%' ar m =3
a)a®+b3+¢3 b)2a® + 2b3 + 2¢3

c)3a®+ 3b® + 3¢3 d) 2

x—a? x-b?

481. If + +== =4(a+b+c), then
b+c ct+a a+
x is equal to
x—a? x—b? —c2
IR ——+—+ _4(a+b+c)%a’r
x fFasd gaT= %?

a) (a+ b + c)?
b) a® + b? + c?
c)ab + bc + ca
d) a? + b?> + ¢? —ab — bc — ca.

482.If xhe  xca, x-ab _(@a+b+c) find the

+c c+a a+b

value of x?
x—bc x—ca . x—ab

gfe = (a+b+c)& ar

x FT AT A FA |

a)ab b) bc + ca

c)ab + bc d)ab + bc + ca

483.If xy+yz+2zx =1 then the value of
1+y s
[(x+y)(y+2)]

_ 1+y2
IR xy+yz+zx=1 ar GGl
HTed:
a)-1 b)1 c)2 d) 4

484.If XY + YZ + XZ = 1 then find the value of

x+y y+z z+x

1-xy 1-yz 1-zx °
x+y y+z

T XY + YZ + XZ=1a +
1- 1-yz
25X ST AT
1-zx
a) xyz b) =~
c)xy + yz +zx d) x? + y? + 22
485.If ab + bc + ca = abc then brc +
bc(a-1)
c+a a+b
cab-D) + ab(c—1) is equal to
39X ab+bc+ca=abc a bre +
bc(a-1)
ct+a m
ca(b-1) + ab(c 1) T
a)-1 b) 1 c)§ d)o

486. The value of x which satisfies the equation

x+a%+2c2 x+b?%+2a? x+c%+2b?

= 0is
b+c c+a a+b
X & A 4T Sy gHEor
2 2 2 2 2 2
x+a“+2c x+b“+2a x+c“+2b
=0 &
b+c c+a a+b
IS FIAT ¢ |

b) —(a? + b? + ¢?)
d) —(a® + b? + 2¢%)

a) (a? + b? + ¢?)
c) (a® + 2b% + ¢?)




) @ coaching center Download the App now & get: Download our app
"y

The Best Paid courses in affordable price with QRPs (Only courses with QRPs) @ }h?! (] @

FREE structure PYQs (All previous year papers at one place in structure way) -ﬂ

FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab)
FREE MOCK TESTs (Free full mock tests & sectional mock tests) o
FREE MONTHLY CURRENT AFFAIRS PDFs with quizzes (Quiz is the best format to remember any thing)

By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

487. |fx2—y+z yz—z+x z? = x + y, then

1
thevalueof—+—+— is
y+1  z+1

R x2=y+z y’=z+x 22=x+y &

ar —+—+— T AT
x+1  y+1

a)-1 b) 1 c)2 d) 4

488. Find the value of xyz, if x? +y* =z +
1, y’+z>=x+1andz> +x? =y + 1.
IR x2+y*=z+1,y*+22=x+1 3R
Z2+x2 =y +1, Axyz ST AT FAT HET?

1
b)1,—§

1
d) =13

a)1or—1
2

1
C) 1,5

289.1f x="2 y =25 7=22

b+c c+a
(1 x)(1-Y)(1-z)

(1+x)(1+y)(1+2)

M x=20,y="S,z=2 @@

a+b b+c’ ct+a

(1-x)(1-Y)(1-2) AT AT
(1+x)(1+y)(1+2) T m I

a)o b) 1 c)2 d)3

then find the

value of

a b b ¢ c  a
490. If x—;+;, y—;+; andz-;+? then

what is the value of xyz — x* — y* — z%?

a b b ¢ c  a
qﬁ x—;+;,y—;+;HﬂTz—;+;%,
A xyz — x2 — y2— z2 FT AT FAT 82
a) -4 b) 2 c)-1 d)-6

491 12— =2 =% _ q1find-—+—+
by+c ax+cz ax+by x+a y+b
—2
z+c
x2 . y2
qﬁ by+cz T ax+cz ax+by % aT x+a
b
—— + — FT AT AT FA |
y+b  z+c
a)l b) 2 c)3 d)4
492.f —=-2—=—"—=1, Find —+
by+cz ax+cz ax+by x+a
Y L Z >
y+b = z+c
x2 _ yz _ 72 _ X
Elﬁ by+cz T ax+cz ax+by =1 %' En. x+a +
y

- —a»'rmmm’rl
y+b

a)1l b) 2 c)3 d)4

493, If x is a real number, find the minimum value
of x* + xlz
Ife x T qIEdfaFd TEAT & Fl’fx2+xi2 HT
LAH AT ¢
a)1 b) -1 c)2 d)5

494, If x is a real number, find the minimum value
of x% +

2+1
afg x v areafas gEar § ara? + 2+1a»'r
FATH AT ©
a) 1 b) -1 c)2 d)5

495. If a, b, c are positive real numbers, then the
ab(a+b)+bc(b+c)+ca(c+a) is .
abc

g a, b, c AT UATCAF IEafaF FEAC
%:’ ?n,ab(a+b)+bc(b+c)+ca(c+a)a;r Fﬂfl?-l’ﬂ AT

abc
g19m:

a)1 b) 9 c)6 d)4

least value of

496. If a, b, c are all positive real numbers, then

the minimum value of the expression
(a?+a+1)(b2+b+1)(c?+c+1) is:
abc )

I a, b, ¢ DA UATCHS TAAH TEITT
%;’En(a2+a+1)(b2:bbc+1)(c2+c+1) T Fq‘;ﬂ'aﬂ' T
g

a)3 b)9

c) 27 d) 1

497. If x is a real number, find the maximum value
8

of
x1641
% x Th aedfad wEwm §oar
HFaa AT T :
a)1 b) —1 c)2 d)%
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498. For x > 0, what is the minimum value of x + a) 72 b) 125 c)24 d) 216

x> 0% fav, x+ﬂ$r—qar-mmw

gHm?
a)l b) 2
c) 2% d) Cannot be determined

499, If x is a real number, find the minimum value

of9x+i
4x
Ify x v IrEafRE @EAT § a’r9x+ﬁ$r
TATH AT 7 :
a)l b) 4 c)2 d)3

500. If x + y + z = 24,then the maximum value of
Xyzis
IR x+y+z=24 ¢ a xyz & JAAwaA
AT AT I

a)728  b)64 c) 512 d) 400

501.If a+b+c+d=1then the maximum
valueof (1+ a)(1 + b)(1 + ¢)(1 + d)is

IM a+b+c+d=18& @ 1+a)A+
bH(1+c)(1+d) &1 H&OFdA AT AT

=
9D )

STRTO)

502.If a+b+c+d=2, then the maximum

value of (1+a)(2+b)3+c)(4+d) is
?

e a+b+c+d=2 & A 1+a)2+
b)3+c)(4+d) & IfWHaA AW
.

a)59.625 b)81 c) 80 d) 64

503.If x +y+ z =18, the maximum value of
x=-2)y+3)z-4)="7?
e x+y+z=188 (x—-2)(y+3)(z—

4)FT JAVFIH AW &

504.If x +y+z =21 then find the maximum
value of (x — 2)(y — 1)(z+9).

e x+y+z=21 g a (x—2)(y -

1)(z + 9) &1 IVFAH AT AT FU |
a)480 b)729 c) 512 d) 216

505.1f abc = 125 (where a,b,care real
numbers), then the minimum valueofa + b +
cis
IR abc =125 & (& a, b, c IEdfas®
HEATT 3),dla+ b + ¢ FT ~qAqH AT FAT

gram?

a) 25 b) 15 c) 126 d) 100

506.1f (x —7)(y—10)(z—12) = 1000,
find the minimum value of (x + y + z).

I (x=7)(y—10)(z—12) = 10008, ar
(x +y+z) & FGAAH AT AT I |

a) 49 b) 30
c) 59 d) None of these

then

507. If (x —5)(y+ 6)(z—8) = 1331, then the
minimum valueof (x + y + 2z) is:

g (x-5)(y+6)(z—8)=1331 & a
(x+y + 2) T qATH AT FAT G :

a) 40 b) 33 c)19 d) Not unique

508. Simplify the following expression
Gx%x%)+(%x%xg)+(6x6x6)+
3(;+2)G+6)(6+3)

Afaf@a saas & g ST |
Gx%x%)+(%x%x§)+(6x6x6)+

3(;+2)Gre)(6+3)

a) 64 b) 521 c) 256 d) 512
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509.If (x+y)3+ (y+2z)3=—(z+x)3, then
(x3 + y3 + z3) can be expressed as:

IR (x+y)%+(y+z)%=—(z+x)%, ar
(x3 +y3 + 23) * FT T A sgaa Far o
"hT ¢

a)(x+y)(y +2)(z + x)
Q)2 (x+Y)(y +2)(z +x)

b) %xyz
d) 3xyz

_ (0.1)3+(0.2)3+(0.3)3+3(0.005+0.016+0.027) +0.036
510. If A= (0.1)2+(0.2)2+(0.3)240.04+0.06+0.12 1

Then the value of 604 is:

afy 4= (0.1)3+(0.2)3+(0.3)3+3(0.005+0.016+0.027)+0.036 aar
- (0.1)24(0.2)%2+(0.3)2+0.04+0.06+0.12 ’

60A FT AT

a) 20 b) 60 c) 36 d) 30

511. A and B are positive integers, If A+ B +
AB = 65, then what is the difference
between Aand B (4, B < 15)?

AdYT B YAHE Uitk @] If A+ B+
AB = 658, dY A 4T B & HET 3Hdl F4T

&

a)3 b) 4 c)5 d)6

512. A and B are positive integers, If A+ B +
AB = 23, then how many values can (A — B)
have?

ATUT B UeleH® qUite | I 4+ B+
AB =238, @ (A-B) & fFas A= @
Tha &2

a)3 b) 6 c)8 d) 4

513. Solve the following (a + b + c)(ab + bc +
ca) — abc =?
ffaf@a # g7 F (a+b+c)(ab+
bc + ca) — abc =?
a)(a+b)(b+c)(c—a)
b) (a—b)(b—c)(c—a)
c)(a+b)(b—c)(c+a)
d)(a+b)(b+c)(c+a)

514.If a+ b+ c =0 then the value of (a+
b)(b + c¢)(c + a) + abc is equal to:

I a+b+c=0%, @ (a+b)(b+c)(c+

a) + abc FT A T ¢ :
a)-1 b) 1 c)o d) 18

515.If a + b + ¢ = 0then
1 1 1

(a+b)(b+c) (b+c)(c+a) (c+a)(a+b) 1s

1
uﬁ a+b+c-0?-l’|' m‘i—
1 1

(b+c)(c+a) — (c+a)(a+b) T
a)o b) 1 c)3 d)2

the value of

516. If a+b+c=0, then

ct+a a b c
T) (m Torat —a+b)

AN a+b+c=0 % ar (%b+%+
c+a a b c .

) (e tora taep) T A

a)8 b)-3 c)9 d)o

517. The coefficient of x3y in (x — 2y) X (5x +
y)3 is:
(x—2y) x(5x+y)> & i3y @I TEUTFF
(coefficient) FATT Y|
a) 75 b) -150

c) 250 d)-175

518. What should be added to x* + 8x3 + 26x* +
40x + 15 to obtain a perfect square

xt+8x3 +26x2+40x+15 H FaT A

a)5 b) 10 c)15 d) 21

519. Ifa+%=1andb+%= 1thenc+:1lisequal
to
IR a+;=13b+-=18 @ c+=
a) 0 b) )1 d)2

520. If a, b, c are non-zero, a + % =1and b + % =

1, then the value of abc is
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3R abcR T a+;=13Rb+2=
1,d abc T e

a)-1 b) 3 c)-3 d)1

b—c a+c

521. If —+—+——1 and a—b+c#0,

then wh|ch one of the following relation is true
?

Elﬁ'u+a—+c+ b=13Ra-b+c+0%
a’ra’rﬁn«—rr##aﬁ;rmmm%?
1 1 1 1

A =pte b) % =5+
11 1 11 1
dy=ate de=ats
522.1f “°+%°4+%2=1 and a—b+c#0,
then wh|ch one of the following relation is true
?

—+a—+c+——13ﬁTa b+c+0%g,
a‘ra’rﬁmﬁ#aﬁhmww%?
11 1 1

A =5t b) % =5+
1 1 1 11 1

9=t de=ats

523.1f ax + by = land bx + ay=—— b2 then
(x2 + y?)(a® + b?) is equal to
ﬂﬁax+by=13ﬁ1’bx+ay=%?r?ﬁ
(x% + y?)(a? + b?) FFEF SR T ?
a) 1 b) 2 c) 0.5 d) o

524. If \/%zlg—o—\/% and x —y =8, then the

value of xy is equal to
Ilﬁ'\[ \fBﬁTx y =8¢, ar xy &I

WW%:

a)36  b)2a c) 16 d)9

525. If\/% = %+ \/%andx+y = 26, then whatis

the value of xy?

afe \E:%+\/§ I x+y=26% @

xy HT AT FIT oM ?
a)5 b) 15

526.If 3 / +9=19-3 / , then what is

the value of a?

I 3 /%“+9=19—3 /ﬁ%,a’raa»'r A

c) 25 d) 30

arzn%?
9
2 1 3 b) 70
2 3 1 4
C)g,g d) -

527. The value of expression x* — 17x3 + 17x% —
17x +17 atx =16 is

N x=16 & a x*—17x3 +17x2 -
17x + 17 =2
a)o b)1 c)2 d)3

528. If x = 11, then the value of x° — 12x* +
12x3 —12x2 +12x - 1 =?
IR x=11 § a x5 —12x*+12x3 -
12x* +12x — 1 =?
a)5 b) 10

c) 15 d) 20

529. Expand x? + 2x + 3 about x = —2.
x=—2 & HSH & 12 + 2x + 3 FT TEK F|
a)(x—2)>-2(x+2)+3
b)(x +2)?2+2(x+2)+3
J(x+2)%2-2(x+2)+3
dx-22%2-2(x—-2)-3

0.896x0.752+0.112x1.984
0.7x0.034+2.1x(0.322)

530. The value of

(42)3+(2.8)% . |
(4.2)2-(2.8)2

0.896x0.752+0.112x1.984 = (4.2)3+(2.8)3 AT
0.7x0.034+2.1x(0.322) (4.2)2-(2.8)2 T

farae gem?

a)11.08 b)10.32 ¢)10.92 d)9.68
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531. If the sum of two positive numbers is 65 and
square root of their product is 26, then the sum
of their reciprocals is:

Ife Y UTcHS TEATIHT T AT 65 &, ar
314 Al 1 AT AT |

3 7
b) -

d) =

5 1
a); )5 52

532. If (2x + 3y + 4)(2x + 3y — 5) is equivalent
to (ax®+ by*+2hxy +2gx+2fy+c),
then what is the value of {(g + f — ¢)/abh}

IR (2x+3y+4)(2x+3y—5), (ax®+
by? 4+ 2hxy + 2gx+ 2fy + ¢), & &I §,
a 4T ¥ {(g + f—c)/abh}

a) 35/432 b) 19/108
c)19/316 d)37/216
533. For a number, greater than one, the

difference between itself and its reciprocal is
20% of the sum of itself and its reciprocal. By
how much percentage (nearest to an integer) is
the square of the number less than its cube?

T & & fAv, e ¥ 3¥F, Ty 3k
IS IRENF & T & FaR &@F 34}
ITH IREIRE AT F 20% ¢l
yfarera @ (vF qoits & fwe) aear &1 ot
SUF Ul ¥ FH &2

a) 122 b) 18 c)81 d)33

534. With a reference to a number greater than
one, the difference between itself and its
reciprocal is 25% of the sum of itself and its
reciprocal. By how much percentage (correct
one decimal place) is the fourth power of the
number greater than its square?
T ¥ Ife FEeamr & Tey & w\aa 3k
IS IRENE & T &1 JR, @7 3R
3% RTINS & AT H1 25% g1 fhdaar
gfaerd & (A8 UF qUANT TYT) TE&AT HY

il arq 39& T ¥ F¥F

a) 57.8 b)62.5  ¢)64.5 d) 66.7

535.1f (1.25)(1—6.4 x1075) = 1.2496 + a,
then a is equal to:

afg (1.25)(1-6.4 x 107°) = 1.2496 + a,

al a & | 7T &

a) 0.0016 b)0.00016 c)0.003 d)0.00032
536. If x = 1 + /2 + /3, find the value of 2x* —

8x3 — 5x% + 26x — 28.

e x=1+V2+V38 @ 2x*-8x%-

5x2 +26x — 28 T AT FAT &2

a) 2v/2 b) 3+/3 c) 55 d) 6V6

2 1 1 1
537. The value of (a3+2az2+3a3+2as6+
1 1 1 1
1) (a3—2a6+1)—az2(az —2),Whena =
7, is:
2 1 1 1 1 1
(a3+2az2+3a3+2a6+1)(a3—2as6+
1 1
1)—az(az —2), AL, IAqa=7,&
a)7 b) 0 1 d)V7

538.If x + y =1 and xy(xy — 2) =
then the value of x* + y*is:

IR x +y = 131 xy(xy — 2) = 12,
x* +y* & AW
a) 19 b)20 ) 25 )23
539. If (4x D W) (422_3) = 0 then the value
d1+1+—5
x y
3T (4-xx 3)+(4y 3) (4z 3) 0% T‘ﬂ' 1+ n
1_
=
a)9 b)3 )4 d)6
540, If 325 4 357 350 _ 0,the the value of
2x 2y 2z
2,2,2
x y z
gag X 3 B g gy 242,12
2x 2y 2z x y z
Sl Hled:
a) 20 b) 10 05 d) 15
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541.1f a + b + ¢ + d = 4 then the value of
1 1

(1-a)(1-b)(1-c) = (1-b)(1-c)(1-d)
1 1

A-—a)1-0(-d) © A-a)A-b)a-d)

afe a+b+c+d=4@ ar

1 1
1-a)(1-b)(1-c) 1-b)(1-c)(1-d)

&I AT dd1sT |

a)o b)1 c)ad d)1+abcd

542. (3x — 2y): (2x + 3y) = 5: 6,then one of the

3\/§+3\/§)2
value of (W}

MM (Bx—2y):(2x+3y)=56 & o
(),
3 x_3\/; .
)= b) 5 )2 d) 25
a 25 ¢ 5
543.1f 3a? =b? # 0then the value  of

((a+b)3 —(a—b)3) _
(a+b)2+(a-b)2

I 3a2=b2+0 ¢
3b b

0
a,]_ ((a+b)3—(a—b)3) _9

(a+b)2+(a—b)2

2b
d) N

544. If x®—4x%+ 19 = 6(x — 1), then what is
5 1
the value of [x +ﬁ]?
Ay x-4x?+19=6(x-1) &A@ |22+
1
ﬁ] T AT 4T &2
a)3 b) 5 c)6 d)8

©)+ )= 3ama ()~ () - o

what is the value ofg ?
aw )+ () =37 (5)-() =
9% ar ’yﬁ T AT FATE?

b+3a
a) a-3b C)

545. If

14+3a a+3b?

a+3b
a+3b d) b—3a?

b-3a

b)

546.1f 2+ 2 =m and g+’[—'=n, then what is =
x y x y y

equal to?

'ﬂﬁ%+%=m3ﬁ1’%+§=n %’,?ﬁiﬁﬂﬁ?
WX ¢ ?

a) np+mgq b)np+mq
mp+nq mp-nq
)np—mq ) np-mq
mp-nq mp+nq

1 1
T Cod-oa-a '*54?_m_1) SIS x™ = 0 then what is the value of

— in terms of x™" ?

xm4xn xm_x
I mxm—nx"=0% A x* UG H
2 T AW TR
xM4x xM—x
2m 2mn
a) xn(mZ_HZ) b) xn(mz_nz)
) 2mn d) 2mn
r x"(m2+n2) x"(n2-m2)

0.325x0.325+0.175x0.175-25x0.00455
5%0.0065%x3.25—-7x0.175%0.025

548. The value of

lies between:
0.325%0.325+0.175%0.175-25%0.00455 m
5x0.0065%3.25—7x0.175x0.025 T #Hiel

aer Rua &
a)0.25and 0.35
c)0.21and 0.31

b) 0.35 and 0.45
d) 0.45 and 0.55

Answers Key

1.D 2.D 3.A 4. A 5.B

6.D 7.A 8.C 9.A 10. A
11.A |12.D |13.C 14.D |15.A
16. B 17.A |18.C 19.C 20. A
21.B 22.A | 23.D |24.D |25.C
26.,A [27.D |28.D |29.B |30.B
31.D [32.D (33.A (34.B |35.C
36.B 37.D [38.B [39.D |40.D
41.D |42.A |43.C |44.B |45.C
46.A |47.D |48.C |49.A |50.D
51.C 52.B 53.A |54.D |55.B
56. C 57.B 58.A |59.D |60.C
61.B 62.D |63.A |64.A |65.B
66. C 67.D |68.C 69.A |70.D
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